VA KEEBR £

TR AR R E R M RA

NINGBO LAIKE HYDRAULICS CO.,LTD




Mk i T ER N X 4R Tk KL
ADD: NO.298,QISHAN ROAD,HENGXI INDUSTRIAL ZONE,YIN
BE4EP.C.: 315131
R i%(Tel): +86-574-88472489 88471115
f&HE(Fax): +86-574-88471696

E-mail: laike @ nblaike.cn

Http: www.nblaike.cn




FERRULE SERIES

LAIKE %8
FERRULES
S
00110A 00110 01100
FERRULE FOR ONE Non-skive Non-skive okive FERRULE FOR TWO
WIRE HOSE I_“ _ WIRE HOSE
f—EBREER BREREER
Al Al Al
00200 00210 01200 03310
Skive Non-skive Skive FERRULE FOR ONE OR | Non-skive
T T | T | rwowsenos:
] ] |e-memes
]
A2 A2 A2 A3
00400 00401 00402 01400
FERRULE FOR FOUR Skive Skive Skive Skive
WIRE HOSE IHIHIT mﬂﬂ “ m "H]T
BMEREER
A3 A3 A4 A4
00621 00018
FERRULE FOR FOUR Skive
OR SIX WIRE HOSE, FERRULE FOR NYLON FERRULE FOR TEFLON
INTERLOCK HOSE HOSE
RMEXEBREE GcRREMIEEER BB EER
[C]
A4 A5
00TFO
XYZ5
1 www.laikehydraulics.com

+86 574 8847 2489




LAIKE 311 TWO PIECE FITTING SERIES AT E 1L Z 5

TWO PIECE FITTING
PIBUHERE R

10311 20211 20241 20291
M Metric - STR F Metric - STR F Metric - 45 Elbow F Metric - 90 Elbow

METRIC FLAT SEAL 2 [
AR EEE E@ﬁmm [

Bl Bl B2 B2
10411 20411 20441 20491
METRIC 24° CONE O- M Metric - STR F Metric - 45 Elbow F Metric - 90 Elbow

RING SEAL L.T.
LbIRa24°
R RS
B3 B3 B4 B4
20411C 20441C 20491C 10511
F Metric - STR F Metric - 45 Elbow F Metric - 90 Elbow [24° CONE O-RING SEAL| M Metric - STR
- ibRa24°
HEHERS
B6
20511 20541 20591 20511C 20541C
F Metric - STR F Metric - 45 Elbow F Metric - STR F Metric - 45 Elbow

B6 B7 B7 B8 B8
20591C 10611 20611 20641
F Metric - 90 Elbow METRIC 60° CONE M Metric - STR F Metric - STR F Metric - 45 Elbow
/7 (U SEAL

RHIRAY
60°HE =Y
B8 B9 B9 B10
10711 20711 20741
- 90 Elbow METRIC 74° CONE M Metric - STR F Metric - STR F Metric - 45 Elbow
A pnn s SEAL e 2y _
RHIBRN |
74°HERREY
B10 B11 B11 B12
20791 10811L 20111

F Metric - 90 Elbow METRIC 90° CONE M Metric - STR F Metric - STR
P METRIC MULTISEAL

’/' [y SEAL ey \ S
2B gmm? g 1o
90°§E ALY *

B12 B12 B13

y) www.laikehydraulics.com
+86 574 8847 2489




<

TWO PIECE FITTING SERIES AT E 1L Z 5

LAIKE %8
TWO PIECE FITTING
{rd<m<d N
P ER E L
20141 20191 50011 50041
F Metric - 45 Elbow F Metric - 90 Elbow Standpipe - STR Standpipe - 4
/7 (qumm STANDPIPE e
RHEFEERE
B13 B14 B15 B16
50091 NL/NS RL/RS 12211
Standpipe - 90 Metric Nut Cutting Ring M BSP - STR
’ N BSP O-RING SEAL )
o By 28 P Brrerrrerers
ocEEE} h’l I
B17 B18 B18 B19
12611 12611A 22611 22611D
M BSP - STR M BSP - STR F BSP - STR F BSP - Double H.
BSP 60° CONE SEAL -
- = /;/)) ?1111111/11;111/1411
SR G
60°$E TS -0
B19 B20 B20 B21
22611D-SM 22641 22691 22691K

F BSP - Small D.H.

F BSP - 45 Elbow

F BSP - 90 Elbow

F BSP - 90 Compact

BSP MULTI SEAL

%}/})})ﬁ//’//’llllfllllllll’lﬂ ﬁ%ﬁﬂ
!ﬁﬁMMﬂ IRE L]
B21 B21 B22 B22
22111 22141 22191 22211
F BSP - STR F BSP - STR
BSP FLAT SEAL
: REEL
TEE
B23 B23 B24 B25
22241 22291 13011-SP
F BSP - 45 Elbow F BSP - 90 Elbow M BSPT - STR
Y S— BSPT ORFS FACE SEAL
|| T
. SEHIORFSHIRLY
SR i
=\
B25 B25 B24
14211 24211 24241 24291
M ORFS- STR F ORFS - STR F ORFS - 45 Elbow F ORFS - 90 Elbow
- = NPTF
SEtimey
B26 B26 B27 B27

www.laikehydraulics.com
+86 574 8847 2489




TWO PIECE FITTING SERIES AT E 1L Z 5

LAIKE &
TWO PIECE FITTING
15611 15611SW 16011
M NPT - STR M NPT - SWIVEL M SAE - STR
SAE O-RING SEAL JIC 74° CONE SEAL
S\ FABY m S| CHBLY
OBYEEH 74°§ERREY
B28 B28 B29

16711 16711L 26711 26711D 26711D-SM

M JIC - Long FJIC-STR F JIC - Double H. F JIC - Small D.H.

7

i’/’,/”/.....,.,.,...,.._

B29 B30 B30 B31 B31
26741 26791 26791K 17811
F JIC 90 Compact M SAE - STR
, SAE 90° CONE SEAL
EHSAESRLY
90°$EREY

B32 B32 B33 B34
27811 27841 27891 21611
F SAE - STR F SAE - 90 Elbow
NPSM 60° CONE SEAL
SEHINPSMEREAL
60° S AT
B34 B34 B35 B35
87311 87341 87391 87391-H
Code 61 Flange

SAE CODE 61 FLANGE
SAEE=2R%

B36

B36

Long Drop

SAE CODE 63 FLANGE

87611
Code 62 Flange

87641
Code 62 Flange

87691

87691-H

SAEE=E R
B38 B38
FS 18611
Split Flange - H.T JIS METRIC 60° CONE | MJISM -STR
SAE SPLIT FLANGE SEAL
SAEE=3R B AHEN
60°$E Y

B39

www.laikehydraulics.com
+86 574 8847 2489




TWO PIECE FITTING SERIES AT E 1L Z 5

TWO PIECE FITTING
ATV EIRE =k
28611 28641 28691 19611
F JIS Metric F JIS Metric M JIS GAS - STR

B

F JIS Metric

JIS GAS 60° CONE SEAL

4 EI.I | I l Gooiﬁgiq
B40 B40 B40 B41
29611 29641 29691 88111
F JIS GAS - STR F JIS GAS JIS Flange - STR
- JIS FLANGE
I//////// T ?7‘ s,
! [ LI B#lix= 1jJ;|]J]]]mu]_d
B41 B41 B42 B42
88141 88191 60011
JIS Flange - STR JIS FIange STR M Staplelock
Y S MT STAPLELOCK METRIC WATERWASH
IERERT A [ Ty INSERTS
sk R RHEBESOKERSL
B42 B43
20011 90011/90012 70011

Water Insert

DOUBLE CONNECTOR

Double Connector

= I

BANJO FITTING

Metric Banjo

TUEEE L Q] T f BEiEsL
B43 B43 B44
700M 71011 710M 72011 7208
Metric Bolt Metric Banjo Metric Bolt BSP Banjo BSP Bolt
by
| e G
B44 B45 B45 B46 B46

TWO PIECE INTERLOCK FITTING

PIHXAAIMRR E L

24° CONE O-RING SEAL
H.T.
KHigs2a°
HEHERY

10513
M Metric - STR

iy

B47

20513
F Metric - STR

20543
F Metric - 45 Elbow

20593
F Metric - 90 Elbow

B47

B47

B47

www.laikehydraulics.com
+86 574 8847 2489




LAIKE %8

TWO PIECE FITTING SERIES AT E 1L Z 5

TWO PIECE INTERLOCK FITTING

PRI E L

12613 22613-W 22643-W 22693-W
M BSP - STR F BSP - STR F BSP - 45 Elbow FBSP-90 Elbow
BSP
% LAY
B48 B48 B48 B48
13013-SP 15613
M BSPT - STR M NPT - STR
NPSM 60° CONE SEAL
_ BSPT % NPTF 2£2iNpsV
EHEEIEA SSHIHEEEN 60°4ERE
B49 B49
21613-W 24213-W 24243-W 24293-W
F NPSM - STR F ORFS - STR F ORFS - 45 Elbow F ORFS - 90 Elbow
ORFS FACE SEAL .
EHIOoRFS
BAEmEE
B49 B50 B50 B50
26713-W 26743-W 26793-W 26713D-W
FJIC-STR F JIC - 45 Elbow F JIC - 90 Elbow F JIC - DOUBLE H.

JIC 74° CONE SEAL
el cIRLL
74°%5%]

B51

B51

B51

JIS GAS 60° CONE SEAL

29613-W
F JIS GAS - STR

SAE Flange H.T

87613
Code 62 Flange

87643
Code 62 Flange

i I .
EIZISaoeiﬁiﬂS?S( SAE %= %
60°33 5]
B52 B52 B52
87693 87913 87943 87993

Code 62 FIange

B52

Caterpillar Flange
9000PSI %=

Caterpillar Flange

[T

B53

Caterpillar Flange

Caterpillar FIange

B53

B53

DOUBLE CONNECTOR
WEEEREL

90013
Double Connector

17—/>7'77777779%77777‘7v—/‘77\

L e

B53

www.laikehydraulics.com
+86 574 8847 2489




LAIKE %8

TWO PIECE FITTING SERIES AT E 1L Z 5

REUSABLE FITTING

AFRIREE

00518 20418D
Reusable Ferrule 24° CONE O-RING SEAL| F Metric-L.T. 24° CONE O-RING SEAL
REUSABLE FERRULE L.T. H.T.
TRRER @ N e N Lo
HEHERT HEHERS
B54 B54
20518D 22618D 15618
F Metric - H.T. F BSP - STR M NPT - STR
BSP NPTF
saums | [l | memmms | Lol
B54 B55 B55
16718 26718D 24218D
M JIC - STR FJIC-STR F ORFS - STR
JIC 74° CONE SEAL ORFS FACE SEAL
EhICiEL T ZE4IORFS
74° %% BSEmEE
B55 B56 B56
87318D 87398D 87698D
Code 61 Flange Code 61 Flange Code 62 Flange
SAE Flange
SAE i ﬁ%

B57

B57

www.laikehydraulics.com
+86 574 8847 2489




K<

oy FERRULE FOR ONE WIRE HOSE Fi—EREERES|

Ferrule for SAE 100 R1AT/EN853 1SN Hose - ., c1no "'O:f DIMENSION

Non Skive 85 = DN E'XEDASH DR TIL
[<- 5

SAE100R1AT/ENS53 1ISNEREER, AR 00110.04A . A 51 30

L 00110-05A 8 5 21.8 31

00110-06A 10 6 24.3 32

3 00110-08A 13 8 28.4 34

00110-10A 16 10 32 37

1 T e 00110-12A 19 12 35.5 43

00110-16A 25 16 44 50

00110-20A 32 20 53 59

00110-A 00110-24A 38 24 59.3 74

00110-32A 51 32 73.5 77

Ferrule for SAE 100 R1AT/EN853 1SN Hose - ., c1no HOSE DIMENSION

Non Skive B o= oN EDASH DR T.I'L
F< o

SAE100R1AT/ENS53 ISNEREER , AFIBR 00110.03 c 3 175 57

L 00110-04 6 4 20.6 30

00110-05 8 5 20.8 31

B 00110-06 10 6 23.3 32

A 00110-08 13 8 27 34

00110-10 16 10 30 37

00110-12 19 12 34 43

00110-16 25 16 42.6 50

00110-20 32 20 52 59

00110 00110-24 38 24 58 74

00110-32 51 32 72 78

Ferrule for GB One Wire Hose - Skive PART NO HOSE DIMENSION

Er—ERARAREER , B B o= e R 9

L DN  DASH D L

01100-04 6 4 19 30

: 1 01100-05 8 5 21 32

_I 01100-06 10 6 23 32

A 01100-08 13 8 28 34

01100-10 16 10 31 37

01100-12 19 12 34 43

1 01100-16 25 16 41 50

01100-20 32 20 49 59

01 100 01100-24 38 24 55 74

Al www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

FERRULE FOR TWO WIRE HOSE ECRREREERRY!

Ferrule for SAE 100 R2AT/EN853 2SN Hose -

Skive
SAE100R2AT/ENS53 2SNERETER] , FIBE
L

00200

Ferrule for SAE 100 R2ZAT/EN853 2SN Hose -

Non Skive
SAE100R2AT/ENS53 2SNENEIERS, AFURR

L

00210

Ferrule for GB Two Wire Hose - Skive
EF-RENLRANEER, B
L

01200

JAV

PART NO
B =

00200-04
00200-05
00200-06
00200-08
00200-10
00200-12
00200-16
00200-20
00200-24
00200-32

PART NO
B =

00210-04
00210-05
00210-06
00210-08
00210-10
00210-12
00210-16
00210-20
00210-24
00210-32

PART NO
B =

01200-04
01200-05
01200-06
01200-08
01200-10
01200-12
01200-16
01200-20
01200-24
01200-32

HOSE
RE
DN DASH
6 4
8 5
10 6
13 8
16 10
19 12
25 16
32 20
38 24
51 32
HOSE
=
DN DASH
6 4
8 5
10 6
13 8
16 10
19 12
25 16
32 20
38 24
51 32
HOSE
=
DN DASH
6 4
8 5
10 6
13 8
16 10
19 12
25 16
32 20
38 24
51 32

DIMENSION
R =
D L
21 30
22.5 31
24 32
28.7 34
315 37
36 43
44 50
54.5 59
62 74
75 78
DIMENSION
R =
D L
22.3 30
23 31
25 32
28.7 34
315 37
355 43
45 50
55 59
62.5 74
75.5 78
DIMENSION
R =
D L
21 30
23 31
25 32
31 34
34 39
37 43
43 50
51 59
57 74
70 78

www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

FERRULE FOR ONE AND TWO WIRE HOSE Ei—EesiREREERZRS

Ferrule for SAE 100R1AT\ R2AT, EN853

1SN\2SN - Non Skive
SAE 100R1AT\R2AT, ENS853 1SN\2SNEREE],
AFIEE

03310

PART NO
B =

03310-04
03310-05
03310-06
03310-08
03310-10
03310-12
03310-16
03310-20
03310-24
03310-32

HOSE

WRE
DN DASH
6 4
8 5
10 6
13 8
16 10
19 12
25 16
32 20
38 24
51 32

DIMENSION
R =
D L
23.2 30
24 30
26 32
29.9 34
33 36
37.2 42
46.2 50
59 59
67 72
80 75

FERRULE FOR FOUR WIRE HOSE ERlUEREERZZRY

SAE 100 R12/06-16, GB 10544 384/20-32,
DIN 20023-4SP, 4SH/10-16 Hose Ferrule
Skive R EER-RIBL

I— 1

00400

DIN 20023-4SH Hose Ferrule - Skive

DIN 20023-4SH IREE, R
L

00401

A3

PART NO
B =

00400-04
00400-06
00400-08
00400-10
00400-12
00400-16
00400-20
00400-24
00400-32

PART NO
B =

00401-16
00401-20
00401-24
00401-32

HOSE

RE
DN DASH

6 4

10 6
13 8
16 10
19 12
25 16
32 20
38 24
51 32

HOSE

=

DN DASH
25 16
32 20
38 24
51 32

DIMENSION
R =
D L
22 37.5
25.5 39
30 41
33 43
37 51
46.5 61.5
57 67.5
65 75
79 79
DIMENSION
R =
D L
49.5 61
53 67.5
61 75
77 79

www.laikehydraulics.com
+86 574 8847 2489




K<

FERRULE FOR FOUR WIRE HOSE BetlUEREERZRS!

LAIKE & #H
Ferrule for SAE 100R9AT-R12, EN856-4SP/04- .ot no HOSE DIMENSION
=4 Y
16-Skive B 5 DN E'KEDASH DR B L
MBI EER, F
MEREER, Pk 00402-04 6 4 21.5 30
00402-06 10 6 26 33
L ' 00402-08 13 8 30 34
— 00402-10 16 10 33 39
00402-12 19 12 38 40
| 00402-16 25 16 46 51
00402-20 32 20 55 60
00402-24 38 24 63 70
= ) 1= 00402-32 51 32 77 72
SAE 100 R12/20-24 , GB 10544 5Type Hose PART NO HOSE DIMENSION
Ferrule - Skive B =2 ON HEDASH DE Bl ]
- hsEgEses o)
SAE 100 R12/20-24 , GB 10544 SBYREER], FIR 01400-06 10 . 575 39
L 01400-08 13 8 31.5 41
01400-10 16 10 34 43
01400-12 19 12 39 51
a i i A 01400-16 25 16 46.5 61.5
01400-20 32 20 55.5 67.5
01400-24 38 24 63.5 75
01400-32 51 32 78 79

01400

FERRULE FOR SIX WIRE HOSE B/ <\EREERERS

Interlock Ferrule for SAE PART NO HOSE DIMENSION
100R13/R15, 4SH/12-16 HOSE - Skive B8 ""EDASH DR “L
- 4 | =

SAE 100 R13/R15~ 4SH/12-16 EREFIRIMNRER] 0062112 19 1 305 53
00621-16 25 15 48.5 66

00621-20 32 20 59 88

00621-24 38 24 69.3 102

o 00621-32 51 32 84.5 106

A4 www.laikehydraulics.com

+86 574 8847 2489




K<

— FERRULE FOR SAE R7 HOSE FEgSAE 100R7ERIZEAS
FERRULE FOR SAE1000R7/R8 HOSE PART NO HOSE DIMENSION
RE R

SAE 100 R7/R8IREER Moo= =
L DN DASH D L
00018-03 5 3 14.2 27
/ : 00018-04 6 4 17 29
”]l 00018-05 8 5 18.8 31
4 -t —t-—t-10 00018-06 10 6 21 31
00018-08 12 8 25.5 34
00018-10 16 10 31.5 36

00018 00018-12 20 12 33 43

FERRULE FOR TEFLON HOSE Btk@ b S EgEs

Ferrule for Teflon Hose PART NO HOSE DIMENSION
BELEER B o= *E R 7
L DN DASH D L
00TFO-03 4 3 27.5
00TF0-04 6 4 14.5 30.7
00TFO-05 8 5 16.5 30.6
g 10 00TF0-06 10 6 19 32.1
00TFO-08 12 8 24 34.3
00TF0-10 16 10 27 37
00TFO-12 20 12 30.1 428
0 OTF 0 00TFO-14 22 14 334 427
00TFO-16 25 16 38 50.8
A5 www.laikehydraulics.com

+86 574 8847 2489




K<

— METRIC THREAD FACE SEAL SERIES AHIRLFEZELRS!
M Metric - O-Ring Flat Seal PART NO THREAD HOSE DIMENSION
AHSMBSEEO B m g E® XE R J

E DN DASH A C s1
10311-12-04 M12X1.25 6 4 225 10 14
10311-14-04 M14X1.5 6 4 235 11 17
10311-16-04 M16X1.5 6 4 235 11 17
A 10311-16-05 M16X1.5 8 5 235 11 17
c 10311-16-06 M16X1.5 10 6 235 11 17
% 10311-18-06  M18X1.5 10 6 235 11 19
wl - 10311-22-05 M22X1.5 8 5 27 12 22
LLLAL 10311-22-06 M22X1.5 10 6 26 12 22
- 10311-22-08 M22X1.5 12 8 265 12 22
10311-27-10 M27X1.5 16 10 315 13 27
10311-30-12 M30X1.5 20 12 335 14 32
10311 10311-36-12 M36X2 20 12 355 16 38
10311-36-14 M36X2 22 14 355 16 38
10311-39-16 M39X2 25 16 39 16 4
10311-45-20 M45X2 32 20 445 20 46
10311-52-24 M52X2 40 24 475 22 55
10311-64-32 M64X2 50 32 525 27 65

F Metric - Flat Seal THREAD HOSE DIMENSION

PART NO =
AHRBSPESS m g 2R = R d
E DN DASH A C s2
20211-14-04 M14X1.5 6 4 155 85 19
20211-14-05 M14X1.5 8 5 155 85 19
20211-16-04 M16X1.5 6 4 165 8 22
& A 20211-16-05 M16X1.5 8 5 165 8 22
20211-16-06 M16X1.5 10 6 165 8 22
- 20211-18-06 M18X1.5 10 6 175 8 24
w - 20211-20-08 M20X1.5 12 8 185 10 27
H_/EU_L LI 20211-22-08 M22X1.5 12 8 185 10 27
ul 20211-22-10 M22X1.5 16 10 195 10 27
S2 20211-24-10 M24X1.5 16 10 205 105 30
20211-30-12 M30X1.5 20 12 215 11 36
20211 20211-33-14 M33X2 22 14 215 13 41
20211-42-20 M42X2 32 20 26 15 50
20211-18-05T  M18X1.5 8 5 175 8 24
20211-20-06T  M20X1.5 10 6 16 10 24
c A 20211-22-06T ~ M22X1.5 10 6 16 10 27
20211-24-08T  M24X1.5 12 8 165 11 30
% 20211-27-08T  M27X1.5 12 8 185 10 32
L L = = 20211-27-10T  M27X1.5 16 10 195 10 32
1 Mﬂj 20211-36-12T  M36X2 20 12 20 13 41
20211-36-14T  M36X2 22 14 20 13 41
20211-39-16T  M39X2 25 16 235 13 46
S2 20211-45-20T  MA45X2 32 20 25 15 55
20211-T 20211-52-24T  M52X2 40 24 25 17 60
20211-60-28T  M60X2 45 28 26 20 70
20211-64-32T  M64X2 50 32 26 23 75
B1 www.laikehydraulics.com

+86 574 8847 2489



K<

LAIKE %8

METRIC THREAD FACE SEAL SERIES N FIBLFEEZEZRS

F Metric - Flat Seal - 45°
45° R FIRIBSEER

20241-T

F Metric - Flat Seal - 90°
90° Al PILRAIE

20291-T

PART NO
B =

20241-14-04
20241-14-05
20241-16-05
20241-18-06
20241-22-08
20241-30-12
20241-36-16
20241-42-20
20241-27-10T
20241-36-12T
20241-36-14T
20241-39-16T
20241-45-20T
20241-52-20T
20241-52-24T
20241-60-28T
20241-64-32T

PART NO
B =

20291-12-02
20291-12-04
20291-14-04
20291-14-05
20291-16-04
20291-16-05
20291-16-06
20291-18-06
20291-22-08
20291-22-10
20291-30-12
20291-33-14
20291-36-16
20291-42-20
20291-18-05T
20291-24-08T
20291-27-04T
20291-27-08T
20291-27-10T
20291-36-14T
20291-39-16T
20291-45-20T
20291-52-20T
20291-52-24T
20291-60-28T
20291-64-32T

THREAD
12 W
E
M14X1.5
M14X1.5
M16X1.5
M18X1.5
M22X1.5
M30X1.5
M36X2
M42X2
M27X1.5
M36X2
M36X2
M39X2
M45X2
M52X2
M52X2
M60X2
M64X2

THREAD
12 W
E
M12X1.5
M12X1.5
M14X1.5
M14X1.5
M16X1.5
M16X1.5
M16X1.5
M18X1.5
M22X1.5
M22X1.5
M30X1.5
M33X2
M36X2
M42X2
M18X1.5
M24X1.5
M27X1.5
M27X1.5
M27X1.5
M36X2
M39X2
M45X2
M52X2
M52X2
M60X2
M64X2

B2

HOSE
mE
DN  DASH
6 04
8 05
8 05
10 06
12 08
20 12
25 16
32 20
16 10
20 12
22 14
25 16
32 20
32 20
40 24
45 28
50 32
HOSE
g
DN DASH
4 2
6 4
6 4
8 5
6 4
8 5
10 6
10 6
12 8
16 10
20 12
22 14
25 16
32 20
8 5
12 8
6 4
12 8
16 10
22 14
25 16
32 20
32 20
40 24
45 28
50 32

A
40.5
42.7
44.4
45.7
58.9
78.1
85.7
97.3
68.6

75
77.3
83.9
94.5
94.5
108.5
118.7
127.8

A
26.5
30
30
33
30
34
35.3
35.75
41
57.5
66.2
71.2
76.7
91.5
33
41
30
41
56
71.2
76.7
91.5
91.5
109.4
119.9
131

DIMENSION
R =
C H S2

85 185 19
85 193 19
8.5 20 22
8 214 24
10 24 27
11 30 36
13 315 41
15 36.6 50
10 243 32
13 275 41
13 27 41
13 29.7 46
15 338 55
17 33.8 60
17 377 60
20 436 70
23 456 75

DIMENSION
R I
C H S2
8 30.5 17
8 335 17

8.5 34 19
8.5 37 19

8 35 22
8 38 22
8 403 22
8 413 24

10 48 27
10 53 27
11 635 36
13 65 41
13 70 41
15 825 50
8 39 24
11 455 30
10 355 32
10 46 32
10 51 32
13 61 41
13 675 46
15 785 55
17 785 60
17 92 60
20 106.5 70
23 1133 75

www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD 24° CONE WITH O-RING L N&I1R4724° P SEER RS

M Metric L - 24° Cone THREAD HOSE TUBE DIMENSION
PART NO - -
AHIMEL2 4 PIRTER RS m = RBR% kE WE R
E DN OD A c s1
10411-12-04 M12X15 6 6 20.5 10 12
10411-14-04 M14X15 6 8 20.5 10 14
10411-14-05 M14X15 8 8 21.5 10 14
A 10411-16-04 M16X15 6 10 22.5 11 17
c 10411-16-05 M16X1.5 8 10 22.5 11 17
L 2, 10411-16-06 M16X1.5 10 10 225 11 17
24°E 4ﬁ/ “  10411-18-05 M18X15 8 12 23.5 11 19
| 10411-18-06 M18X1.5 10 12 215 11 19
= 10411-22-06 M22X1.5 10 15 24.5 12 24
= 10411-22-08 M22X15 12 15 26 12 24
10411-26-08 M26X1.5 12 18 26.5 12 27
10411 10411-26-10 M26X15 16 18 27 12 27
10411-27-10 M27X15 16 18 32 14 30
10411-30-10 M30X2 16 22 29 14 32
10411-30-12  M30X2 20 22 29 14 32
10411-36-16 M36X2 25 28 31.5 14 38
10411-45-20 M45X2 32 35 36 16 46
10411-52-24 M52X2 40 42 38 16 55
F Metric L - 24° Cone oARTNG  THREAD HOSE TUBE  O-RING  DIMENSION
with O-Ring 8 s ﬁeﬂ Eﬁf ﬁgﬁ Oﬁf ARCTISZ
QHIPIRLS24 PRI RS 20411-12-04 M12X15 6 6  0045X15 26 1 17
20411-14-04 M14X15 6 8  006.5X15 28 2 19
cC A 20411-14-06 M14X1.5 10 8  006.5X15 28 2 19
S 20411-16-04 M16X15 6 10  008.0X15 28 2 22
] 20411-16-05 M16X1.5 8 10 008.0X1.5 28 2 22
20411-16-06 M16X1.5 10 10  008.0X15 28 2 22

20411-18-06 M18XL5 10 12  O10.0xL5 29 2.5 24
20411-18-08 M18XL5 12 12  010.0XL5 30 25 24
204112208 M22X15 12 15 0OI12.0X20 32 2.5 27
20411-26-10 M26X15 16 18 015.0X2.0 35 25 32
20411 20411-26-12 M26X15 20 18 0150X2.0 35 2.5 32
20411-27-12 M27X15 20 18 015.0X2.0 35 25 32
20411-30-12 M30X2 20 22 020.0X20 38 4 36
20411-18-05T M18X15 8 12  O10.0XL.5 28 18 22
20411-22-05T M22XL5 8 15 012.0X20 30 21 27
20411-22-06T M22XL5 10 D15 012.0X20 29 25 27
20411-27-10T M27X15 16 18 015.0X2.0 28 25 32
20411-30-10T M30X2 16 22 020020 35 4 36
20411-36-12T M36X2 20 28 026.0X2.0 35 4 41
20411-36-14T M36X2 22 28 026.0X2.0 36 4 41

5

5

24° w41

20411-45-16T M45X2 25 35 032.0X2.5 41 55
20411-T 20411-45-20T MA45X2 32 35 032.0X2.5 42 55
20411-52-20T M52X2 32 42 038.0Xx2.5 44 55 60
20411-52-24T M52X2 40 42 038.0X2.5 44 55 60

B3 www.laikehydraulics.com
+86 574 8847 2489




K<

— METRIC THREAD 24° CONE WITH O-RING L SERIES A #IIE4724° REHEIIZ RS
F Metric L- 24° Cone with  pagTno  THREAD HO;E TU::E O-RING DIMENSION
. o 1) = mg ﬁ E'XE EE Oﬂ E T.r
O-Ring - 45 B 5
e E DN OD E A C H 82
4: A WO )0441-14-04 M14X15 6 8 006.5X1.5 49 2 27 19
BR5 20441-16-05 M16X1.5 8 10 008.0X1.5 51.5 2 285 22
20441-16-06 M16X1.5 10 10 008.0X1.5 53.4 2 29.5 22

20441-18-06 M18X1.5 10 12 010.0X1.5 54.2 2.5 299 24
20441-22-08 M22X1.5 12 15 012.0X2.0 68.1 2.5 33.2 27
20441-26-10 M26X1.5 16 18 015.0X2.0 80.7 2.5 35.9 32
20441-26-12 M26X1.5 20 18 015.0X2.0 869 2.5 39.5 32
20441-27-12 M27X1.5 20 18 015.0X2.0 86.9 2.5 395 32
20441-30-12 M30X2 20 22 020.0X2.0 89.1 4 41.7 36
20441-18-05T M18X1.5 8 12 010.0X1.5 46.2 2.5 229 22
20441-22-05T M22X1.5 8 15 012.0X2.0 483 25 25 27
20441-22-06T M22X1.5 10 15 012.0X2.0 504 2.5 25.7 27
20441-26-08T M26X1.5 12 18 015.0X2.0 62 2.5 26.1 32
20441-27-10T M27X1.5 16 18 015.0X2.0 72 2.5 27.7 32

20441-30-10T M30X2 16 22 020.0X2.0 751 4 303 36
20441-36-12T M36X2 20 28 026.0X2.0 82 4 339 41
20441-36-14T M36X2 22 28 026.0X2.0 83.7 4 333 41
20441-45-20T MA4A5X2 32 35 032.0X2.5 99.6 55 40.8 55
20441-T 20441-52-20T M52X2 32 42 038.0X2.5 103 55 419 60

20441-52-24T M52X2 40 42 038.0Xx2.5 117 55 45.8 60

F Metric L - 24° Cone with  parrno  THREAD HOSE TUBE  O-RING DIMENSION
O-Ring - 90° Moo= 2N RE EE oRE R =

AN 8 okttt T/ E DN OD E A C H S2
90° A PIRE24 HETOME 0491-12.03  m12x15 6 004.5X15 26.5 415 17

5 1
12R5 20491-12-04 M12X1.5 6 6 0045X1.5 30 1 445 17
20491-14-04 M14X15 6 8 0065X1.5 30 2 46 19
20491-16-04 M16X1.5 6 10 008.0X1.5 30 2 465 22
20491-16-05 M16X1.5 8 10 008.0X1.5 33 2 495 22
20491-16-06 M16X1.5 10 10 008.0X1.5 353 2 51.8 22
20491-18-06 M18X1.5 10 12 010.0X1.5 353 2.5 53.3 24
20491-22-08 M22X1.5 12 15 O012.0X20 41 25 61 27
20491-26-10 M26X1.5 16 18 015.0X2.0 56.5 2.5 67.5 32
20491-27-12 M27X15 20 18 015.0X2.0 655 2.5 77 32
20491-30-12  M30X2 20 22 0200X20 655 4 80 36
20491-18-05T M18X1.5 8 12 010.0X1.5 33 2.5 42 22
20491-22-06T M22X1.5 10 15 012.0X2.0 353 2.5 47.3 27
20491-26-08T M26X1.5 12 18 015.0X2.0 42 25 51 32
20491-27-10T M27X1.5 16 18 O015X2.0 56.5 2.5 67.5 32

20491-30-10T M30X2 16 22 020.0X2.0 56.5 4 57.2 36
20491-36-12T M36X2 20 28 026.0X2.0 655 4 69 41
20491-36-14T M36X2 22 28 026.0X2.0 712 4 70 41
20491-45-16T MA45X2 25 35 032.0X2.5 76.7 5 75 55
20491-45-20T MA5X2 32 35 032.0X2.5 915 5 885 55
20491-52-20T M52X2 32 42 038.0X2.5 93 55 87 60

20491-52-24T M52X2 40 42 038.0X2.5 109 55 104 60

B4 www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD MULTISEAL SERIES N FIELIKEZ I Z 5

F Metric L - 24° Multi Seal THREAD HOSE TUBE DIMENSION
PART NO . "

AHIRIRE24° BRERERS) m g %8 W& ®WE R 9
E DN DASH OD A C S2
cC A 20411C-12-04 M12X1.5 6 04 6 195 35 17
A\ - 20411C-14-04 M14X1.5 6 04 8 205 35 19
LuL 20411C-16-04 M16X1.5 6 04 10 21 3.5 22
WLHJ—L 20411C-16-05 M16X1.5 8 05 10 21 3.5 22
S2 20411C-16-06  M16X1.5 10 06 10 21 3.5 22
20411C 20411C-18-06 M18X1.5 10 06 12 225 3 24
20411C-22-08 M22X1.5 12 08 15 24 4.5 27
c A 20411C-30-12  M30X2 20 12 22 27 7 36
i 20411C-30-14 M30X2 22 14 22 27 7 36
— 20411C-36-16  M36X2 25 16 28 29 6.5 41
“JL f 20411C-22-06T M22X1.5 10 06 15 235 45 27
20411C-26-10T M26X1.5 16 10 18 27 4 32
S2 20411C-30-10T M30X2 16 10 22 26.5 7 36
2041 1C'T 20411C-45-20T MA45X2 32 20 35 33 7 55
20411C-52-24T M52X2 40 24 42 34 8 60

F Metric L - 24° Multi Seal - THREAD HOSE TUBE DIMENSION

PART NO n -

A
45" A HIMIRL 24° HRENHE RS 20441C-14-04 M14X1.5 6 8 44 3.5 22 19
20441C-16-04 M16X1.5 6 10 448 35 227 22
20441C-16-05 M16X1.5 8 10 46,6 35 232 22

20441C-16-06 M16X1.5 10 10 48.2 35 239 22
20441C-18-06 M18X1.5 10 12 50 3 25.7 24
20441C-22-08 M22X1.5 12 15 62.8 45 279 27
20441C-26-10 M26X1.5 16 18 75.1 4 30.6 32

20441C 20441C-30-12 M30X2 20 22 82 7 33.5 36
20441C-36-12T M36X2 20 28 80.2 6.5 328 41

F Metric L - 24° Multi Seal - THREAD HOSE TUBE DIMENSION

PART NO = =
900 gg 1=5 m; ﬁ E'A'E EEE R T.r
E DN oD A C H S2
°/\ o 13 R

90 Aﬁumﬂgﬁzll ﬁﬁﬁ:g;u 20491C-14-04 M14X1.5 6 8 30 3.5 395 19
A 20491C-16-04 M16X1.5 6 10 30 3.5 40 22
e ; 5 20491C-16-05 M16X1.5 8 10 33 35 43 22

20491C-16-06  M16X1.5 10 10 3525 35 452 22
20491C-18-06 M18X1.5 10 12 3525 3 47.25 24
20491C-22-08 M22X1.5 12 15 41 4.5 53 27
20491C-26-10 M26X1.5 16 18 56.5 4 60 32

E \S2 20491C-30-12  M30X2 20 22 65.5 7 68.5 36
2049 1C 20491C-36-12T M36X2 20 28 655 6.5 675 41
B5 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD 24° CONE WITH O-RING L AHIRL24° W HEEEREZRS

M Metric S - 24° Cone THREAD HOSE TUBE DIMENSION
PART NO - -
AHIMEL2 4 PIRTER RS m o= RBRY KE @S R 9
E DN OD A c s1
10511-14-04 M14X15 6 6 24.1 12 14
10511-16-04 M16X1.5 6 8 26.5 12 17
10511-18-04 M18X1.5 6 10 26.5 12 19
A 10511-20-05 M20X1.5 8 12 27 12 22
c 10511-20-06 M20X1.5 10 12 26.5 12 22
L 2, 10511-22-05 M22XL5 8 14 305 14 24
240E 4ﬁ/ = 10511-22-06 M22X1.5 10 14 30.5 14 24
| 10511-22-08 M22X1.5 12 14 31 14 24
= 10511-24-08 M24X1.5 12 16 31.5 14 27
= 10511-30-10 M30X2 16 20 36 16 32
10511-30-12 M30X2 20 20 36 16 32
10511 10511-36-12 M36X2 20 25 40.5 18 41
10511-36-16 M36X2 25 25 415 18 38
10511-42-16 M42X2 25 30 44 20 46
10511-42-20 M42X2 32 30 45 20 46
10511-52-20 M52X2 32 38 50 22 55
F Metric S - 24° Cone oARTNG  THREAD H'?SE TUBE O-RING  DIMENSION
with O-Ring 8 s !geﬂ 53% ES? ogf ARCTISZ
QHIPIRLS24 PR EE RS 20511-14-04 M14X15 6 6  0045X15 29 1.1 19
20511-16-04 M16X15 6 8  006.5X15 29 1.5 22
cC A 20511-16-05 M16X15 8 8  006.5X15 29 1.5 22
S WL 20511-18-06 M18X15 10 10 008.0X1.5 29 2 24
; e 20511-20-08 M20X15 12 12 010.0X1.5 32 25 27
il ou| § i ) 20511-22-08 M22X15 12 14  011.0X2.0 32 25 27
20511-30-12 M30X2 20 20 016.3X24 39 3 36
S2 20511-18-04T M18X15 6 10  008.0X15 27 2 22
20511 20511-20-06T M20X1.5 10 12 010.0X1.5 29 2.5 24
20511-22-06T M22X15 10 14  011.0X2.0 29 2.5 27
c A 20511-24-08T M24X15 12 16 013.0X2.0 30 3 30
- 20511-30-10T M30X2 16 20 016.3X24 36 3 36
i 20511-36-12T M36X2 20 25  020.3X2.4 36 3 41
20511-36-14T M36X2 22 25 0203X2.4 36 3 41
20511-42-12T M42X2 20 30 0253X24 40 5 50
20511-42-16T M42X2 25 30 0253X24 41 5 50

20511 T 20511-52-20T M52X2 32 38 033.3X2.4 44 6.5 60
20511-52-24T M52X2 40 38 033.3X2.4 44 6.5 60

B6 www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD 24° CONE WITH O-RING L SERIES AHIMES024°PIHEHEEE R

F Metric S - 24° Cone with  parrno  THREAD Ho:f TU::E O-RING DIMENSION

o o 1 = m\g g E'XE ﬁEE Oﬂ E T.r
O-Ring - 45 E 5

RV E DN OD E A C H s2

45°xn WO 70541-14.04 M14X15 6 6 0045X1.5 50.1 1.1 28 19

BRI 20541-16-04 M16X1.5 6 8 006.5X1.5 50.4 15 283 22

A . 20541-16-05 M16X1.5 8 8 006.5X1.5 52.2 1.5 289 22

g —  20541-18-06 M18X1.5 10 10 O008.0X1.5 543 2 29.6 24

e %/ 20541-20-08 M20X1.5 12 12 010.0X1.5 67.8 2.5 32.8 27

4 20541-22-08 M22X1.5 12 14 011.0X2.0 68.1 2.5 332 27

LA, 20541-24-10 M24X1.5 16 16 013.0X2.0 80.7 2.5 359 30

20541-30-12 M30X2 20 20 016.3X2.4 90.5 3 424 36
20541-18-04T M18X1.5 6 10 008.0Xx1.5 434 2 213 22
20541-20-06T M20X1.5 10 12 010.0X1.5 49.7 25 25 24
20541-22-06T M22X1.5 10 14 011.0X2.0 496 2.5 253 27

20541-24-08T M24X1.5 12 16 013.0X2.0 625 3 275 30
20541-30-10T M30X2 16 20 016.3X2.4 75.8 3 31 36
20541-36-12T M36X2 20 25 020.3X2.4 82.7 3 346 41
20541-36-14T M36X2 22 25 020.3X2.4 84.4 3 34 41
i 20541-42-16T MA42X2 25 30 0253X24 923 5 36.8 50

24°
20541 T 20541-52-20T M52X2 32 38 033.3X2.4 103 6.5 41.2 60
20541-52-24T M52X2 40 38 033.3X2.4 116 6.5 451 60

F Metric S - 24° Cone with  papryo  THREAD HOSE TUBE O-RING DIMENSION
. o = 12 N RE @EE (0}:2]52) R o
O-Ring - 30 B 8 E DN OD E A C H s2

o/,\ I o - /
;giﬁ]l’%ﬁﬁu HEHOME 0000 1000 miaxis 6 6 0045X15 30 1.1 475 19
3 20591-16-04 M16X15 6 8 006.5X15 30 15 48 22

20591-16-05 M16x1.5 8 8 006.5Xx1.5 33 15 51 22
20591-18-06 M18X1.5 10 10 008.0X1.5 353 2 528 24
20591-20-08 M20X1.5 12 12 010.0X1.5 41 25 61 27
20591-22-08 M22X1.5 12 14 011.0X2.0 41 25 61 27
20591-24-10 M24X1.5 16 16 013.0X2.0 56.5 2.5 675 30
20591-30-12 M30X2 20 20 016.3X24 655 3 81 36
20591-18-05T M18X1.5 8 10 008.0Xx1.5 33 2 528 24
20591-22-06T M22X1.5 10 14 011.0X2.0 353 2.5 46.8 27

20591-24-08T M24X1.5 12 16 013.0x20 41 3 53 30
20591-30-10T M30X2 16 20 016.3X2.4 565 3 60.5 36
20591-36-12T M36X2 20 25 020.3X24 662 3 70 41
20591-36-14T M36X2 22 25 020.3X24 712 3 71 41
20591-42-16T MA42X2 25 30 0253X24 78 5 77.5 50
20591-52-20T M52X2 32 38 0333X24 93 65 89 60

20591-52-24T M52X2 40 38 033.3X2.4 109 6.5 103 60

20591-T

B7 www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD MULTISEAL SERIES SRR EZ I Z5 |

F Metric S - 24° Multi Seal PART NO THREAD HOSE TUBE DIMENSION
ABIPIELI2° BREE RS g B8 wKE ®WE R ¥
E DN DASH OD A C S2

20511C-18-04T M18X1.5 6 4 10 21 3 22
20511C-20-05T M20X1.5 8 12 215 45 24
20511C-20-06T M20X1.5 10 12 215 45 24
w| QL . 20511C-22-06T M22X1.5 10 14 215 45 27
20511C-24-08T M24X15 12 16 23 5 30
20511C-30-10T M30X2 16 10 20 26.5 7 36
20511C-36-12T M36X2 20 12 25 27 6.5 41

20511C-42-16T M42X2 25 16 30 295 9 50
20511C-T 20511C-52-20T M52X2 32 20 38 34 8 60

C A

0 O O U

S2

F Metric S - 24° Multi Seal - 45°
45° R FIRIES24° BREE RS

PARTNG  THREAD HOSE TUBE DIMENSION
B o= 12 8 RE WE R 3
E DN OD A C H s2

20541C-16-04 M16X1.5 6 8 44.8 3 22.7 19
20541C-18-04T M18X1.5 16 10 43.7 3 216 22
20541C-20-06T M20X1.5 10 12 489 45 246 24
20541C-24-08T M24X1.5 12 16 614 25 265 30

20541C-T

F Metric S - 24° Multi Seal - THREAD HOSE TUBE DIMENSION
PART NO B RS S R
90° 1.] .% B B
E DN oD A C H S2
LYAN
90 Afﬁ“l’iﬂ%ﬁﬂ?ﬁiﬁ?ﬂ 20591C-16-04 M16X1.5 6 8 30 3 40 22
20591C-18-04T M18X1.5 6 10 30 3 38.5 22

20591C-20-05T M20X1.5 8 12 33 4.5 42 24
20591C-20-06T M20X1.5 10 12 353 45 457 24
20591C-22-06T M22X1.5 10 14 353 45 447 27
20591C-24-08T M24X1.5 12 16 41 5 52 30
20591C-30-10T M30X2 16 20 56.5 7 56.5 36
20591C-36-12T M36X2 20 25 655 65 665 41

E
20591C-42-16T M42X2 25 30 78 9 735 50
20591C-T 20591C-52-20T M52X2 32 38 93 8 875 60

S2

BS www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD 60° CONE SERIES N &IB4r60°HEmEZET RS

M Metric - 60° Cone or PART NO THREAD Ho;E DIMENSION

y = 8 e R 9
Bonded Seal B S E DN DASH A C s1
A ° VI :[F-
Aﬁuﬁfﬁiio Wsﬁﬁﬁ’zj\ﬁufﬁﬁ 10611-14-04  M14X1.5 6 4 235 11 19
HESBZEFIIN AL 10611-14-06  M14X1.5 10 6 24 11 19

10611-16-04 M16X1.5 6 27.5 12 22
A 10611-16-05 M16X1.5 8 26.5 12 22

4

5
C 10611-18-06 M18X1.5 10 6 29.5 12 24
sj%i; . 10611-22-06 M22X1.5 10 6 30.5 14 27

» E ' 8

]JDD]M 10611-22-08 M22X1.5 12 32 14 27
= 10611-24-10 M24X1.5 16 10 35 14 30

S1 10611-26-10 M26X1.5 16 10 35 16 32

10611-27-10D M27X1.5 16 10 35 16 32

10611-27-10 M27X2 16 10 37 18 32

10611 10611-30-12D  M30X1.5 20 12 38 18 36
10611-30-12 M30X2 20 12 38 18 36

10611-33-16 M33X2 25 16 43 20 46

10600-42-20 M42X2 32 20 46 20 50

10611-45-20 M45X2 32 20 46 20 55

10611-48-24 M48X2 40 24 46 20 55

10611-52-24 M52X2 40 24 48 20 60

F Metric - 60° Cone

PRSI 60 ST BART NO Tml-éREgzD HO;E DI,I\_‘/.IENS;C-)N
B 5

& E DN DASH A C s2

x 20611-14-04  M14X1.5 6 4 18 5.5 19

7777777777 20611-16-05  M16X1.5 8 5 19 5.5 22

60> _EU—L [T 20611-16-06  M16X1.5 10 6 19 5.5 22

, 20611-18-06  M18X1.5 10 6 20 5.5 24

X2 20611-20-08  M20X1.5 12 8 22 6.5 27

20611-22-08  M22X1.5 12 8 22.5 6 27

20611 20611-24-10  M24X1.5 16 10 245 65 30

20611-26-10  M26X1.5 16 10  25.5 6 32

20611-30-10D  M30X1.5 16 10  26.5 6 36

(. 20611-30-12D  M30X1.5 20 12 265 6 36

Z 20611-30-12  M30X2 20 12 265 6 36

20611-36-16  M36X2 25 16 30 6.5 41

60°{> w|4H 20611-27-10DT M27X1.5 16 10 255 6 32

20611-27-10T  M27X2 16 10  25.5 6 32

20611-39-16T  M39X2 25 16 30 6.5 46

20611-45-20T  MA45X2 32 20 31 8.5 55

20611 T 20611-52-24T  M52X2 40 24 32 10 60

B9 www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC THREAD MULTISEAL SERIES N FIELIKEZ I Z 5

F Metric - 60° Cone - 45°

45° PRSI 60°FMEEE
THREAD HOSE DIMENSION
';g’“ ng 2 BRE R
E DN DASH A C H S2
20641-14-04 M14X1.5 6 04 42.7 5.5 20.6 19
20641-16-05 M16X1.5 8 05 45.1 5.5 21.8 22

20641-18-06 M18X1.5 10 06 47.4 55 232 24
20641-22-08 M22X1.5 12 08 61.8 6 26.8 27
20641-30-12D  M30X1.5 20 12 81.6 6 335 36

20641-27-10DT M27X1.5 16 10 714 6 271 32
20641-36-14T  M36X2 22 14 819 65 316 41
20641-39-16T  M39X2 25 16 885 65 343 46
20641-45-20T  M45X2 32 20 99.1 85 384 55
60" $2 20641-52-24T  M52X2 40 24 1134 10 427 60

20641-T
F Metric - 60° Cone - 90°
90°AHIRIRSI60°MEH
THREAD HOSE DIMENSION
PARTNO m g = R
B 5

E DN DASH A C H S2
20691-14-04 M14X1.5 6 4 30 55 37 19
20691-16-05 M16X1.5 8 5 33 55 405 22
20691-18-06 M18X1.5 10 6 353 5.5 438 24
20691-22-08 M22X1.5 12 8 41 6 52 27
20691-30-12D  M30X1.5 20 12 662 6 685 36
20691-36-16 M36X2 25 16 78 65 765 41
20691-27-10DT M27X1.5 16 10 56 6 55 32
20691-36-14T  M36X2 22 14 712 65 675 41
20691-39-16T  M39X2 25 16 767 65 74 46
20691-45-20T  M45X2 32 20 915 85 8 55
20691-52-24T  M52X2 40 24 1094 10 99 60

B10 www.laikehydraulics.com

+86 574 8847 2489




K<

N— METRIC THREAD 74° CONE SEAL SERIES EFRAGINBL 744 EZET 55
M Metric - 74° Cone Seal THREAD HOSE DIMENSION
PART NO =
EHRARIMER 74 SMET m g ®® WE R d
E DN DASH A C s1
10711-14-04 M14X1.5 6 04 305 18 17
10711-14-06 M14X1.5 10 06 305 18 17
10711-16-05 M16X1.5 8 05 315 19 17
A 10711-16-06 M16X1.5 10 06 315 19 17
e 10711-18-06 M18X1.5 10 06 315 19 19
10711-22-08 M22X1.5 12 08 35 195 22
" ”{i 10711-24-08 M24X1.5 12 08 37 20 24
10711-27-10 M27X1.5 16 10 385 205 27
ST 10711-30-12 M30X1.5 20 12 425 23 32
10711-33-12 M33X2 20 12 45 26 36
10711-36-14 M36X2 22 14 45 26 38
107 11 10711-39-16 M39X2 25 16 48 275 41
10711-42-20 M42X2 32 20 52 285 46
10711-45-20 M45X2 32 20 52 285 46
F Metric - 74° Cone Seal THREAD HOSE DIMENSION
PART NO =
ENFAHIPIRE 74 P w2 B o B R
E DN DASH A C s2
20711-12-04 M14X1.5 6 4 145 10 17
20711-14-04 M14X1.5 6 4 155 85 19
20711-14-05 M14X1.5 8 5 155 8.5 19
& A 20711-14-06 M14X1.5 10 6 155 8.5 19
20711-16-04 M16X1.5 6 4 16.5 8 22
L 20711-16-05 M16X1.5 8 5 16.5 8 22
irl . 20711-16-06 M16X1.5 10 6 16 8 22
H_/EU_L LI ) 20711-18-06 M18X1.5 10 6 175 10 24
ul 20711-20-08 M20X1.5 12 8 185 10 27
S2 20711-22-08 M22X1.5 12 8 185 10 27
20711-22-10 X22X1.5 16 10 195 10 27
207 11 20711-27-12 M27X1.5 20 12 215 11 32
20711-30-12 M30X1.5 20 12 215 11 36
20711-33-14 M33X2 22 14 215 13 41
20711-36-16 M36X2 25 16 23 14 41
c A 20711-42-20 M42X2 32 20 26 15 50
20711-18-05T  M18X1.5 8 5 16 8 22
20711-20-06T  M20X1.5 10 6 16 10 24
20711-22-06T  M22X1.5 10 6 16 10 27
ik 20711-24-08T  M24X1.5 12 8 165 11 30
20711-27-08T  M27X1.5 12 8 185 11 32
20711-27-10T  M27X1.5 16 10 195 11 32
20711-30-10T  M30X1.5 16 10 185 11 36
2 07 11-T 20711-33-10T  M33X2 16 10 20 13 41
20711-33-12T  M33X2 20 12 20 13 41
20711-36-12T  M36X2 20 12 20 14 41
20711-36-14T  M36X2 22 14 20 14 41
20711-39-16T  M39X2 25 16 235 14 46
20711-42-16T  M42X2 25 16 235 15 50
20711-45-20T  M45X2 32 20 25 15 55
20711-52-24T  M52X2 40 24 25 17 60
B11 www.laikehydraulics.com

+86 574 8847 2489



K<

G METRIC THREAD 74° CONE SEAL SERIES ERR/ASIEL74 s ERF I 25
F Metric - 74° Cone Seal - 45° THREAD HOSE DIMENSION
ISCEFANRRS T REE 229w s B8 KE R 9

ra = E DN DASH A C H S2
20741-14-04 M14X1.5 6 04 405 85 185 19
20741-16-05 M16X15 8 05 444 8 20 22
A | 20741-18-06 M18X1.5 10 06 457 10 21.4 24
e Thd 20741-22-08 M22X1.5 12 08 589 10 24 27
= % e 1 20741-27-10 M27x15 16 10 712 11 264 32
T ’ 20741-30-12 M30X15 20 12 781 11 30 36
iva e 20741-33-12  M33X2 20 12 774 13 30 41
S S 20741-33-16  M33X2 25 16 8 13 308 41
20741-36-14  M36X2 22 14 798 14 296 41
20741-36-16  M36X2 25 16 857 14 315 41
20741 20741-39-16  M39X2 25 16 861 14 318 46
20741-45-20W MA45X2 32 20 97 15 362 55
20741-52-24W M52X2 40 24 1129 17 409 60

F Metric - 74° Cone Seal - 90° THREAD HOSE DIMENSION

PART NO =
90" BT HIPIRLL7 4 PO m o= B% wE R ¥

E DN DASH A C H S2

20791-12-04C M12X1.5
20791-12-04 M12X1.5

6 4 30 9 335 17

6
20791-14-04 M14X1.5 6

6

8

30 10 335 17
30 8.5 34 19
30 8 35 22

4
20791-16-04 M16X1.5 4
5 34 8 38 22
6
8

20791-16-05 M16X1.5

20791-18-06  M18X1.5 10 353 10 413 24
20791-22-08 M22X1.5 12 41 10 48 27
20791-22-10 M22X1.5 16 10 56,5 10 525 27
20791-27-10 M27X1.5 16 10 565 11 54 32
20791-30-12  M30X1.5 20 12 66.2 11 635 36

20791-33-12  M33X2 20 12 655 13 635 41
20791-33-16  M33X2 25 16 76.7 13 69 41
20791 20791-36-12  M36X2 20 12 655 14 635 41
20791-36-14 M36X2 22 14 712 14 645 41

20791-39-16 M39X2 25 16 76.7 14 705 46
20791-45-20W  MA45X2 32 20 915 15 83 55
20791-52-20W  M52X2 32 20 93 17 845 60
20791-52-24W  M52X2 40 24 1107 17 96,5 60

M Metric - 90° Cone Seal PART NO THREAD HOSE DIMENSION
BIIMBEIO0HNE T m g B®% RE R d
_ E DN DASH A C Ss1 s2
‘r C »% 10811L-12-04 M12X1.5 6 04 46 34 17 17
N 2z2222% ==  10811L-14-04 M14X1.5 6 04 46 34 17 19
ML 10811L-14-06 M14X1.5 10 06 465 34 17 19
. G 10811L-16-04 M16X1.5 6 04 465 34 19 22
8 & /fioccwr 10811L-16-06 M16X1.5 10 06 465 34 22 22
U\ 10811L-20-06 M20X1.5 10 06 57 40 27 27
10811L-20-08 M20X1.5 12 08 575 40 27 27
10811L-22-08 M22X1.5 12 08 625 45 27 27
Nk * Please insert suffix "LN" after part no if you want to order with locknut.
10811L'LN * PN | IBERSREI0E LN, 40 : 10811L-12-04LN
B12 www.laikehydraulics.com

+86 574 8847 2489



K<

— METRIC THREAD MULTISEAL SERIES AFMESEREZI RS
F Metric - Multi Seal THREAD HOSE DIMENSION
PART NO 8 8 &= R
KHIPIREERE B 5 -
E DN DASH A C s1

20111-10-04 M10X1 04 18 2.5 14
20111-12-04 M12X1.5 04 18.5 4 17
20111-12-05 M12X1.5 05 18.5 4 17

6
6
8
20111-14-04 M14X1.5 6 04 195 45 19
8
6
8

@m_ 20111-14-05 M14X1.5 05 195 45 19

- 20111-16-04  M16X1.5 04 195 45 22
[T 20111-16-05  M16X1.5 05 20 45 22
20111-16-06 M16X1.5 10 06 20 45 22
S2 20111-18-06 M18X1.5 10 06 215 4 24
20111-18-08 M18X1.5 12 08 22 4 24
20111 20111-20-08 M20X1.5 12 08 23 55 27
20111-22-08 M22X1.5 12 08 235 5 27
20111-22-10 M22X1.5 16 10 245 5 27
20111-24-10 M24X1.5 16 10 26 5 30
20111-30-12  M30X2 20 12 265 7 36
20211-18-05T M18X1.5 8 05 215 4 24
20211-20-06T M20X1.5 10 06 205 55 24
20211-22-06T M22X1.5 10 06 23 5 27
w| 20211-24-08T M24X1.5 12 08 22 55 30
20211-27-10T M27X2 16 10 235 7 32
20211-36-12T M36X2 20 12 26 7 41
20211-36-14T M36X2 22 14 26 7 41
20211-39-14T M39X2 22 14 285 7 46
20211-39-16T M39X2 25 16 295 7 46
20111-T 20211-42-16T M42X2 25 16 30 85 50
20211-45-20T MA45X2 32 20 315 85 55
20211-52-20T M52X2 32 20 33 9 60
20211-52-24T M52X2 40 24 33 9 60
20211-64-32T M64X2 50 32 35 14 75
F Metric - Multi Seal - 45° THREAD HOSE DIMENSION
o N B LTERTE ;.QRT N=c.) L0 = R
45°a : = E DN DASH A C H S2
20141-10-04  M10X1 6 4 432 25 215 14
20141-12-03 M12X15 5 3 409 4 212 17
20141-12-04 M12X15 6 4 43 4 22 17
20141-14-04 M14X15 6 4 434 45 213 19
20141-14-05 M14X1.5 8 5 455 45 222 19
20141-16-04 M16X15 6 4 437 45 214 22
20141-16-05 M16X1.5 8 5 458 45 225 22
20141-16-06 M16X1.5 10 6 474 45 241 22
20141-18-06 M18X1.8 10 6 485 4 242 24
20141-18-08 M18X1.8 12 8 522 4 257 24
20141-20-08 M20X1.5 12 8 621 55 272 27
20141-22-08 M22X1.5 12 8 621 5 272 27
20141 20141-24-10 M24X1.5 16 10 754 5 296 30
20141-30-12  M30X2 20 12 809 6 335 36
B13 www.laikehydraulics.com

+86 574 8847 2489



K<

LAIKE %8

METRIC THREAD MULTISEAL SERIES SRR EZ I Z 5|

F Metric - Multi Seal - 45° THREAD HOSE DIMENSION
PARTNO o po jowet R
45°/\ | 3 1] =
KPR B2 5 E DN DASH A C H S2
20141-18-05T M18X15 8 05 468 4 226 24

20141-20-06T M20X1.5 10 06 48.2 55 239 27
20141-22-06T M22X1.5 10 06 58.4 5 25.7 27
20141-24-08T M24X1.5 12 08 611 55 261 30
20141-27-10DT M27X1.5 16 10 744 55 296 32
20141-27-10T M27X2 16 10 744 55 296 32
20141-36-14T M36X2 22 14 83 7 3264 41
20141-39-16T M39X2 25 16 88.2 7 3395 46

20141 T 20141-45-20T MA45X2 32 20 99.1 85 384 55
20141-52-24T M52X2 40 24 1141 9 43.4 60

F Metric - Multi Seal - 90° THREAD HOSE DIMENSION
° ) ME| PIELTERTE I;:RT N.:.o L BE R =
W'z = E DN DASH A C H S2
20191-10-03 M10X1 5 3 27 2.5 35.5 14
20191-12-04 M12X1.5 6 4 30 4 37.5 17
A 20191-14-04 M14X1.5 6 4 30 4.5 38 19
L :;Q— 20191-14-05 M14X1.5 8 5 33 4.5 41 19
9’//" TT 3 20191-16-04 M16X1.5 6 4 30 4.5 38.5 19
/ 20191-16-05 M16X1.5 8 5 33 45 415 22
e 5 ! 20191-18-06 M18X1.5 10 6 35.3 4 45.3 24
20191-18-08 M18X1.5 12 8 40.5 4 50.5 24
20191-20-08 M20X1.5 12 8 41 5.5 52 27
20191-22-08 M22X1.5 12 8 41 5 52.5 27
20191-24-10 M24X1.5 16 10 58 5 58.5 30
20191-30-12D M30X1.5 20 12 67.5 6 68.5 36
20191-30-12 M30X2 20 12 67.5 6 68.5 36
20191-18-05T M18X1.5 8 5 33 4 43 24
20191-20-06T M20X1.5 10 6 35.3 55 448 24
20191-22-06T M22X1.5 10 6 35.8 5 76.8 27
20191-24-08T M24X1.5 12 8 41 5.5 51 30

20191-27-10DT M27X1.5 16 10 56 55 555 32
20191-27-10T M27X2 16 10 56 55 555 32
20191-36-12T M36X2 20 12 65.5 7 68 41
20191-36-14T M36X2 22 14 71.2 7 69 41
20191-39-16T M39X2 25 16 76.7 7 73.5 46
20191-45-20T MA45X2 32 20 915 85 85 55
2019 1-T 20191-52-24T M52X2 40 24 1094 9 100 60

20191-64-32T M64X2 50 32 1318 14 1223 75

www.laikehydraulics.com
B14 +86 574 8847 2489




K<

LAIKE %8

METRIC STANDPIPE SERIES EERXEHEZRY

Metric Standpipe
FEXEHE

PART NO
B =

50011-06-03
50011-06-04
50011-10-05
50011-10-06
50011-12-06
50011-12-08
50011-15-06
50011-15-08
50011-18-08
50011-18-10
50011-22-10
50011-22-16
50011-28-06
50011-35-20
50011-42-24
50011-08-04
50011-08-05
50011-08-06
50011-10-04
50011-12-04
50011-12-05
50011-14-06
50011-14-08
50011-14-12
50011-16-08
50011-16-10
50011-20-10
50011-20-12
50011-25-12
50011-25-16
50011-30-10
50011-30-20
50011-38-16
50011-38-20

B15

TUBE OD
EERANES
D
6
6
10
10
12
12
15
15
18
18
22
22
28
35
42
8
8
8
10
12
12
14
14
14
16
16
20
20
25
25
30
30
38
38

DN
5
6
8

10

10
12
10
12
12
16
16

25

25

32

40
6
8
10
6
6
8
10
12

20
12
16
16

20
20
25
25
32
25
32

HOSE
mE
DASH

0 ouU A DO OV D

S B e e
O OO OO NN O O N

DIMENSION NOTE

R T &iF
A C L/s
285 22
29 22
31 23
32 23
335 23
33 23
355 25 LT
355 25 -
36,5 26 wHs
41 26
44 28
46 28
47 30
56 36
62 40
31 24
33 24
33 24
35 26
345 26
35,5 26
395 29
40 29
455 29 ST
41 30 -
455 30 B35
525 36
525 36
56 40
57 40
63 44
64 44
69 50
70 50

www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

METRIC STANDPIPE SERIES EERXBEEZRS!

Metric Standpipe - 45° TUBE OD HOSE DIMENSION NOTE
o - PARTNG  wmzoie  m® R &t
5 REXEE m 2 F = !
D DN DASH A C H L/s
50041-06-03 6 5 3 478 22 275
50041-06-04 6 6 4 522 22 301
50041-08-05 8 8 5 557 24 324
A 50041-08-06 8 10 6 579 24 331
1 50041-10-05 10 8 5 54 23 306
1 %/ 50041-10-06 10 10 6 561 23 313
- 50041-12-06 12 10 6 585 23 345
50041-12-08 12 12 8 724 23 374 LT
50041-15-06 15 10 6 593 25 345 XK
50041 50041-15-08 15 12 8 706 25 357 5l
50041-18-08 18 12 8 734 26 385
50041-18-10 18 16 10 846 26 39.8
50041-22-10 22 16 10 871 28 423
50041-22-12 22 20 12 933 28 459
50041-22-16 22 25 16 1009 28 46.7
50041-28-16 28 25 16 1037 30 495
50041-35-20 35 32 20 1185 36 57.8
50041-08-04 8 6 4 536 24 315
50041-10-04 10 6 4 54 26 319
50041-12-04 12 6 4 571 26 351
50041-12-05 12 8 5 592 26 359
50041-14-06 14 10 6 616 29 373
50041-14-08 14 12 8 738 29 388
50041-14-12 14 20 12 919 29 438
50041-16-08 16 12 8 766 30 417 S.T.
50041-16-10 16 16 10 878 30 43 EX
50041-20-10 20 16 10 928 36 48 5l
50041-20-12 20 20 12 1007 36 526
50041-25-12 25 20 12 1018 40 54.4
50041-25-16 25 25 16 1094 40 552
50041-30-16 30 25 16 1136 44 59.4
50041-30-20 30 32 20 1242 44 635
50041-38-16 38 25 16 1179 50 63.6
50041-38-20 38 32 20 1284 50 67.7
B16 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

METRIC STANDPIPE SERIES EERXBEEZRS!

Metric Standpipe - 45° TUBE OD HOSE DIMENSION NOTE
o - PARTNO  mzoie mm= R &
5 REXEE m 2 F = !
D DN DASH A C H /s
50091-06-03 6 5 3 265 22 45
% 50091-06-04 6 6 4 30 22 48
— 50091-08-05 8 8 5 34 24 555
/ 50091-08-06 8 10 6 358 24 57.8
50091-10-05 10 8 5 34 23 53
- 50091-10-06 10 10 6 353 23 553
50091-12-06 12 10 6 353 23 598
1 50091-12-08 12 12 8 41 23 67 L.T.
BN 50091-15-06 15 10 6 358 25 59.8 RXR
50091 50091-15-08 15 12 8 41 25 65 7
50091-18-08 18 12 8 41 26 685
50091-18-10 18 16 10 565 26 73
50091-22-10 22 16 10 56.5 28 765
50091-22-12 22 20 12 655 28 86
50091-22-16 22 25 16 767 28 915
50091-28-16 28 25 16 767 30 95.5
50091-35-20 35 32 20 915 36 1125
50091-08-04 8 6 4 30 24 525
50091-10-04 10 6 4 30 26 53
50091-12-04 12 6 4 30 26 57.5
50091-12-05 12 8 5 33 26 605
50091-14-06 14 10 6 353 29 63.8
50091-14-08 14 12 8 41 29 69
50091-14-12 14 20 12 662 29 83
50091-16-08 16 12 8 42 30 73
50091-16-10 16 16 10 565 30 775 T
50091-20-10 20 16 10 56.5 36 845 E;U?
50091-20-12 20 20 12 655 36 95.5
50091-25-12 25 20 12 655 40 98
50091-25-16 25 25 16 767 40 103.5
50091-30-16 30 25 16 78 40 109.5
50091-30-20 30 32 20 915 44 1205
50091-38-16 38 25 16 767 50 1155
50091-38-20 38 32 20 915 50 1265
B17 www.laikehydraulics.com

+86 574 8847 2489




K<

— METRIC THREAD 24° CONE SEAL SERIES R4 HEEEIES
Metric Retaining Nuts PART NO THREAD TUBE O'.D DIMENSION W. P.
PEEEI2EG o= 2 W EFER R = I{EED

E D L S2 Mpa
NL-12 M12X1.5 6 14.5 14 50
NL-14 M14X1.5 8 14.5 17 50
J NL-16 M16X1.5 10 15.5 19 50
) NL-18 M18X1.5 12 15.5 22 50
NL-22 M22X1.5 15 17 27 40
E — 4+— D
NL-26 M26X1.5 18 18 32 40
/ ! NL-30 M30X2 22 20 36 40
‘ ) NL-36 M36X2 28 21 41 25
s NL-45 M45X2 35 24 50 25
2 NL-52 M52X2 42 24 60 25
L NS-14 M14X1.5 6 16.5 17 80
N |. /N S NS-16 M16X1.5 8 16.5 19 80
NS-18 M18X1.5 10 17.5 22 80
NS-20 M20X1.5 12 17.5 24 63
NS-22 M22X1.5 14 20.5 27 63
NS-24 M24X1.5 16 20.5 30 63
NS-30 M30X2 20 24 36 42
NS-36 M36X2 25 27 46 42
NS-42 M42X2 30 29 50 42
NS-52 M52X2 38 32.5 60 42

* NL is used with L. T.; NS is used with S. T.
*NUERTFIRE , NSIEFRTFEE

Metric Cutting Ring PART NO TUBE O’.D DIMENSION W. P. N0~TE
PEEEs B o= BEFER R = IEEND &iF
D L Mpa L/S
RL-06 6 9.5 50
__ RL-08 8 9.5 50
RL-10 10 10 50
RL-12 12 10 50
S PR | B RL-15 15 10 40 L. T.
RL-18 18 10 40 B®Z7
RL-22 22 10.5 40
RL-28 28 11 25
L RL-35 35 13.5 25
RL-42 42 13 25
RS-06 6 9.5 80
RL/RS RS-08 8 9.5 80
RS-10 10 10 80
RS-12 12 10 63
RS-14 14 10 63 S.T.
RS-16 16 10.5 63 BRI
RS-20 20 12.5 42
RS-25 25 12.5 42
RS-30 30 13 42
RS-38 38 13 42
B18 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

BSP FLAT SEAL WITH O-RING SERIES HEIMELIOFBZETZREG!

M BSP - Flat Seal with O-Ring DART NO THREAD HOSE  O-RING DIMENSION
fute s
BEIMBLOR B m g %% U8 oEA R o
E DN DASH O A C S1
12211-04-04  G1/4"X19 6 4 0111 24 11 19
12211-04-06  G1/4"X19 10 6 0111 24 11 19
12211-06-06  G3/8"X19 10 6 0113 27 12 22
A 12211-08-04  G1/2"X14 6 4 0115 34 14 27
c 12211-08-06  G1/2"X14 10 6 0115 34 14 27
L 2, 122110808  G1/2'X14 12 8 0115 34 14 27
24°E <ﬁ/ == 12211-10-10  G5/8"X14 16 10 0910 36 16 30
| 12211-12-10  G3/4"X14 16 10 0119 34 16 32
= 12211-12-12  G3/4"X14 20 12 0119 38 16 32
1 12211-12-16  G3/4"X14 25 16 0119 36 16 32
12211 12211-16-16  G1"X11 25 16 0217 45 19 41
12211-20-20  G1.1/4"X11 32 20 0222 46 20 50
BSP 60° CONE SEAL SERIES ZEEMRL60°$EEZEIERY
M BSP - 60° Cone Seal THREAD HOSE DIMENSION
PART NO =
REIMBLI60" FIRE m g B® RE R ¥
E DN DASH A C s1
12611-02-03  G1/8"X28 5 3 22 10 12
12611-04-04  G1/4"X19 6 245 12 14
12611-06-05  G3/8"X19 8 5 26 14 17
12611-06-06  G3/8"X19 10 6 275 14 17
12611-06-08  G3/8"X19 12 8 265 14 19
12611-08-06  G1/2"X14 10 6 305 16 22
12611-08-08  G1/2"X14 12 8 31 16 22
12611-10-08  G5/8"X14 12 8 325 18 24
12611-10-10  G5/8"X14 16 10 335 18 24
12611-12-08  G3/4"X14 12 8 355 19 27
12611-12-10  G3/4"X14 16 10 37 19 27
12611-12-12  G3/4"X14 20 12 365 19 27
12611-16-12  G1"X11 20 12 405 21 36
12611-16-16  G1"X11 25 16 415 21 36
12611-20-16  G1.1/4"X11 25 16 435 21 46
12611-20-20  G1.1/4"X11 32 20 445 21 46
12611-24-20  G1.1/2"X11 32 20 49 23 50
12611-24-24  G1.1/2"X11 40 24 46 23 50
12611-32-32  G2"X11 50 32 535 26 65
B19 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

BSP 60° Cone Seal SERIES ZEEIBL60°HEEZETRS

M BSP - 60° Cone or Bonded
Seal
REIMEGcPIHAES TR

3|

12611A

F BSP - 60° Cone Seal
BERESI60° I METmZET

PART NO
B =

12611A-04-04
12611A-04-05
12611A-06-05
12611A-06-06
12611A-06-08
12611A-08-06
12611A-08-08
12611A-08-10
12611A-10-08
12611A-10-10
12611A-12-08
12611A-12-10
12611A-12-12
12611A-16-12
12611A-16-16
12611A-20-16
12611A-20-20
12611A-24-24
12611A-32-32

PART NO
B =

22611-02-04
22611-04-03
22611-04-04
22611-04-05
22611-04-06
22611-06-04
22611-06-05
22611-06-06
22611-06-08
22611-08-08
22611-10-08
22611-10-10
22611-12-10
22611-12-12
22611-16-14
22611-16-16
22611-08-06T
22611-12-08T
22611-16-12T
22611-20-16T
22611-24-20T
22611-32-24T
22611-20-20W
22611-24-24W
22611-32-32W

B20

THREAD
2 o
E
G1/4x19
G1/4x19
G3/8x19
G3/8x19
G3/8x19
G1/2x14
G1/2x14
G1/2x14
G5/8x14
G5/8x14
G3/4x14
G3/4x14
G3/4x14
G1x11
Gix11
G1-1/4x11
G1-1/4x11
G1-1/2x11
G2x11

THREAD
12 W
E
G1/8"X28
G1/4"X19
G1/4"X19
G1/4"X19
G1/4"X19
G3/8"X19
G3/8"X19
G3/8"X19
G3/8"X19
G1/2"X14
G5/8"X14
G5/8"X14
G3/4"X14
G3/4"X14
G1"X11
G1"X11
G1/2"X14
G3/4"X14
G1"X11
G1.1/4"X11
G1.1/4"X11
G2"X11
G1.1/4"X11
G1.1/2"X11
G2"X11

HOSE
RE
DN DASH
6 4
8 5
8 5
10 6
12 8
10 6
12 8
16 10
12 8
16 10
12 8
16 10
20 12
20 12
25 16
25 16
32 20
40 24
50 32
HOSE
RE
DN DASH
6 4
5 3
6 4
8 5
10 6
6 4
8 5
10 6
12 8
12 8
12 8
16 10
16 10
20 12
22 14
25 16
10 6
12 8
20 12
25 16
32 20
40 24
32 20
40 24
50 32

A
24.5
24.5

26

28
28.5

33

33

34

35
35.5
36.5
37.5
37.5
42.5
43.5
45.5
46.5

49
54.5

15
17
18
18
18
19
19
19.5
19.5
21.5
22
23.5
24
24
26
27
21
22
24
27.5
32
30
30.5
32
31.9

www.laikehydraulics.com
+86 574 8847 2489

DIMENSION
R =
C
12
12
13.5
13.5
13.5
16
16
16
17.5
17.5
18.5
18.5
18.5
20.5
20.5
20.5
20.5
23
25.5

DIMENSION
R =
C
5.5
5.5
5.5
5.5
5.5
6.3
6.3
6.3
6.3
7.5
9.5
9.5
10.9
10.9
11.7
11.7
7.5
10.9
11.7
11
13
16
11
13
16

S1
19
19
22
22
22
27
27
27
30
30
32
32
32
41
41
50
50
55
70

S1
14
19
19
19
19
22
22
22
22
27
30
30
32
32
41
41
27
32
41
50
55
70
50
55
70




K<

N— BSP 60° CONE SEAL SERIES HEHRLI60HEZTIRY!
F BSP - 60° Cone Seal - Double PART NO THREAD HOSE DIMENSION
Fexagon £ s REQi DNEkiASH A ? 31 52
HEPIRES60-JMEEI A

22611D-04-04 G1/4"X19 6 4 235 55 19 19
22611D-06-06 G3/8"X19 10 6 265 63 22 22
22611D-08-08 G1/2"X14 12 8 31 75 27 27
22611D-10-08 G5/8"X14 12 8 32 95 30 30
22611D-12-08 G3/4"X14 12 8 33 109 32 32
22611D-12-12 G3/4"X14 20 12 34 109 32 32

60°CUJ

——

22611D-16-16  G1"X11 25 16 355 11.7 41 41
22611D 22611D-20-20 G1.1/4"X11 32 20 435 11 50 50
F BSP - 60° Cone Seal - Small PART NO THREAD HOSE DIMENSION
Double Hexagon B 5 ® RE R 9
e o E DN DASH A C S1 S2
REMLRL60° JMETIN7<H - 22611D-04-045SM G1/4"X19 6 4 23 55 14 19
AV Sl 22611D-06-065M G3/8"'X19 10 6 25 63 17 22

22611D-08-085M G1/2"X14 12 8 285 75 22 27
22611D-10-08SM G5/8"X14 12 8 30 95 22 30
22611D-12-085M G3/4"X14 12 8 321 109 27 32
22611D-12-12SM G3/4"X14 20 12 325 109 27 32
22611D-16-16SM G1"X11 25 16 36.3 11.7 32 41
22611D-20-20SM G1.1/4"X11 32 20 415 11 41 50

22611D-SM

F BSP - 60° Cone Seal - 45° PART NO T;RE;D :;;E D','\QENSLION
[ = R B S
45" REPIRL60° JNET £ = E DN DASH A C H s2

22641-04-04 G1/4"X19 6 4 423 55 202 19
22641-06-04 G3/8"X19 6 4 432 63 21 22
22641-06-05 G3/8"X19 8 5 453 63 22 22
22641-06-06 G3/8"X19 10 6 469 63 226 22
8
8

22641-08-08 G1/2"X14 12 611 7.5 26.1 27
22641-10-08 G5/8"X14 12 61.4 95 26.5 30
22641-10-10 G5/8"X14 16 10 726 9.5 278 30
22641-12-10 G3/4"X14 16 10 73 109 28.2 32
22641-12-12 G3/4"X14 20 12 79.2 109 318 32
22641-16-16 G1"X11 25 16 884 11.7 342 41
22641-08-06T G1/2"X14 10 6 481 7.5 239 27
22641-12-08T G3/4"X14 12 8 618 109 269 32
22641-16-12T G1"X11 20 12 80.8 11.7 334 41
22641-20-16T G1.1/4"X11 25 16 853 11 311 50
22641-20-20W  G1.1/4"X11 32 20 988 11 38 50
22641-24-24W  G1.1/2"X11 40 24 117 13 455 55
22641-32-32W  G2"X11 50 32 136 16 527 70

www.laikehydraulics.com
B21 +86 574 8847 2489




N— BSP 60° CONE SEAL SERIES HEMRLI60HEZTIRY!
F BSP - 60° Cone Seal - 90° THREAD HOSE DIMENSION
TR 60 SMET O e R o
WRE = E DN DASH A C H S2
22691-02-03  G1/8"X28 5 3 265 55 315 14
22691-02-04  G1/8"X28 6 4 30 55 345 14
22691-04-03  G1/4"X19 5 3 265 55 335 19
22691-04-04  G1/4"X19 6 4 30 55 365 19
22691-04-05  G1/4"X19 8 5 33 55 395 19
22691-04-06  G1/4"X19 10 6 30 55 365 19
L 22691-06-04  G3/8"X19 4 30 63 377 22
22691-06-05  G3/8"X19 8 5 33 63 40.7 22
O 22691-06-06  G3/8"X19 10 6 353 63 43 22
' 22691-08-08  G1/2"X14 12 8 41 75 51 27
22691-08-10  G1/2"X14 16 10 56.5 7.5 555 27
22691-10-08  G5/8"X14 12 8 41 95 515 30
22691-10-10  G5/8"X14 16 10 56,5 95 56 30
22691 22691-12-10  G3/4"X14 16 10 56.5 10.9 56.6 32
22691-12-12  G3/4"X14 20 12 655 109 66 32
22691-16-14  G1"X11 22 14 712 11.7 693 41
22691-16-16  G1"X11 25 16 76.7 11.7 73.8 41
22691-08-06T G1/2"X14 10 6 353 7 433 27
22691-12-08T  G3/4"X14 12 8 41 109 521 32
22691-16-12T  G1"X11 20 12 655 11.7 683 41
22691-20-16T G1.1/4"X11 25 16 78 11 69.5 50
22691-20-20W G1.1/4"X11 32 20 915 11 843 50
22691-24-24W  G1.1/2"X11 40 24 109 13 103 55
22691-32-32W  G2"X11 50 32 132 16 123 70
F BSP - 60° Cone Seal - 90° THREAD HOSE DIMENSION
PART NO
Compact B S % = ) R_o
e . E DN DASH A C H S1 S2
90°RREMIRLL60° FMEM 22691K-04-04 G1/4'X19 6 4 175 55 185 11 19
A 22691K-06-04  G3/8"X19 6 4 20 63 23 16 22
s1_ :.;l . 22691K-06-05  G3/8"X19 8 5 20 63 23 16 22
- 22691K-06-06  G3/8"X19 10 6 20 63 24 16 22
- 22691K-08-06 G1/2"X14 10 6 23 7.5 265 19 27
22691K-08-08  G1/2"X14 12 8 235 7.5 285 19 27
ol g S2 22691K-10-10  G5/8"X14 16 10 25 95 292 22 30
>§ 22691K-12-12  G3/4"x14 20 12 275 109 33 27 32
£ 60\ 22691K-16-16  G1"X11 25 16 325 11.7 38.1 33 41
22691K
B22 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

BSP MULTI SEAL SERIES ZEIELIKEZEIZS

F BSP - Multi Seal THREAD HOSE DIMENSION
PART NO —
BERIBLIRE m g 28 ¥ R 3
E DN DASH A C S1
22111-02-04 G1/8"X28 6 4 19 2 14
22111-04-03 G1/4"X19 5 3 19 4 19
c A 22111-04-04 G1/4"X19 6 4 195 4 19
- 22111-06-05 G3/8"X19 8 5 20 5 22
\\M 22111-06-06 G3/8"X19 10 6 205 5 22
- B 22111-06-08 G3/8"X19 12 8 21 5 22
| || || || || | | 22111-08-08 G1/2"X14 12 8 23 6 27
22111-08-10 G1/2"X14 16 10 24 6 27
S2 22111-10-10 G5/8"X14 16 10 25 8 30
22111-10-12 G5/8"X14 20 12 25 8 30
22111 22111-12-10 G3/4"X14 16 10 26 95 32
22111-12-12 G3/4"X14 20 12 26 95 32
22111-16-14 G1"X11 22 14 265 11 4
22111-16-16 G1"X11 25 16 28 11 41
22111-08-06T  G1/2"X14 10 6 225 6 27
22111-12-08T  G3/4"X14 12 8 25 95 32
22111-16-12T  G1"X11 20 12 265 11 41

22111-20-16T G1.1/4"X11 25 16 275 11 50
22111-20-20W  G1.1/4"X11 32 20 315 10 50
22111-24-24W  G1.1/2"X11 40 24 37 115 55

22111-32-32W G2"X11 50 32 34 15 70
F BSP - Multi Seal - 45° THREAD HOSE DIMENSION
e PART NO 8 5 N R =
45° WERIRSEKE B B
E DN DASH A C H S2
22141-02-04 G1/8"X28 6 4 437 2 216 14
22141-04-04 G1/4"X19 6 4 437 4 216 19
22141-06-05 G3/8"X19 8 5 46.2 5 229 22
22141-06-06 G3/8"X19 10 6 481 5 239 22
22141-06-08 G3/8"X19 12 8 604 5 254 22
22141-08-08 G1/2"X14 12 8 61.8 6 26.8 27
22141-08-10 G1/2"X14 16 10 73 6 29 27
22141-10-10 G5/8"X14 16 10 73.7 8 289 30
22141-10-12 G5/8"X14 20 12 798 8 325 30
22141-12-10 G3/4"X14 16 10 704 9.5 296 32
22141-12-12 G3/4"X14 20 12 80.6 9.5 33.2 32
22141-16-12 G1"X11 20 12 816 11 335 41
22141-16-14 G1"X11 22 14 833 11 33 41
22141-16-16 G1"X11 25 16 89.2 11 35 41

22141-20-20W  G1.1/4"X11 32 20 103 10 412 50
22141-24-24W  G1.1/2"X11 40 24 120 115 49 55
22141-32-32W  G2"X11 50 32 137 15 53 70

www.laikehydraulics.com
B23 +86 574 8847 2489




BSP MULTI SEAL SERIES ZEIELIKEZEIZS

F BSP - Multi Seal - 90° THREAD HOSE DIMENSION
PART NO —
90° FEPIBLIERE B o= R« e R 9
E DN DASH A C H S2
22191-02-04 G1/8"X28 6 4 30 2 385 14
22191-04-03 G1/4"X19 5 3 27 4 35 19
22191-04-04 G1/4"X19 6 4 30 4 385 19
22191-04-05 G1/4"X19 8 5 33 4 415 19
22191-06-05 G3/8"X19 8 5 33 5 42 22
22191-06-06 G3/8"X19 10 6 353 5 448 22
22191-06-08 G3/8"X19 12 8 41 5 50 22
22191-08-08 G1/2"X14 12 8 41 6 52 27
22191-08-10 G1/2"X14 16 10 565 6 58 27
22191-10-10 G5/8"X14 16 10 565 8 57.5 30
22191-10-12 G5/8"X14 20 12 654 8 67 30
22191-12-10 G3/4"X14 16 10 565 9.5 585 32
22191-12-12 G3/4"X14 20 12 655 95 68 32
22191-16-14 G1"X11 22 14 712 11 695 41
22191-16-16 G1"X11 25 16 767 11 75 41
22191-08-06T  G1/2"X14 10 6 353 6 468 27
22191-02-08T  G3/4"X14 12 8 41 95 52 32
22191-16-12T  G1"X11 20 12 662 11 685 41
22191-20-16T  G1.1/4"X11 25 16 767 10 78 50
22191-20-20 G1.1/4"X11 32 20 923 10 853 50
22191-24-24 G1.1/2"X11 40 24 109.4 115 108 55
22191-32-32 G2"X11 50 32 133.1 15 1238 70
BSPT SERIES ZEHHEEIMRLIZT
M BSPT PART NO T;;E;D :;; DI,I:ENS;)N
FHEEIMERSL B =
E DN DASH A C H
13011-02-04SP  R1/8x28 6 4 225 10 12
c A - 13011-04-04SP  R1/4x19 6 4 27 145 14
g . 13011-04-05SP  R1/4x19 8 5 27 145 14
AL 13011-04-06SP  R1/4x19 10 6 27 145 17
13011-06-04SP  R3/8x19 6 4 275 15 17
13011-06-05SP  R3/8x19 8 5 275 15 17
\E S1 13011-06-06SP  R3/8x19 10 6 275 15 17
13011-06-08SP  R3/8x19 12 8 28 15 19
1 3 0 1 1-S P 13011-08-06SP  R1/2x14 10 6 345 20 22
13011-08-08SP  R1/2x14 12 8 35 20 22
13011-08-10SP  R1/2x14 16 10 355 20 22
13011-08-12SP  R1/2x14 20 12 38 20 27
13011-12-08SP  R3/4x14 12 8 37 20 27
13011-12-10SP  R3/4x14 16 10 38 20 27
13011-12-12SP  R3/4x14 20 12 385 20 27
13011-12-16SP  R3/4x14 25 16 405 20 32
13011-16-12SP  R1x11 20 12 435 255 36
13011-16-16SP  R1x11 25 16 45 255 36

13011-20-20SP  R1-1/4x11 32 20 495 265 46
13011-24-24SP  R1-1/2x11 40 24 525 265 50
13011-32-24SP  R2x11 40 24 57 30 65
13011-32-32SP  R2x11 50 32 57 30 65

B24 www.laikehydraulics.com

+86 574 8847 2489



K<

N— BSP FLAT SEAL SERIES MBS FEELRT
F BSP - Flat Seal THREAD HOSE DIMENSION
e PART NO 8 i - R <
REMESEM B2 =
E DN DASH A C S1
22211-04-04 G1/4x19 6 4 155 8 19
C A 22211-06-05 G3/8x19 8 5 17 9 22
22211-06-06 G3/8x19 10 6 165 9 22
o m%rn 7 22211-08-08 G1/2x14 12 8 185 10.5 27
L 22211-10-10 G5/8x14 16 10 21 12 30
_$ 4JU1JMLHJJJ, 22211-12-12 G3/4x14 20 12 215 135 32
\—\@ 22211-16-16 G1x11 25 16 23 155 41
22211-20-20 G1-1/4x11 32 20 26 155 50
22211 22211-24-24 G1-1/2x11 40 24 275 175 55
22211-32-32 G2x11 50 32 305 23 70
F BSP - Flat Seal - 45° THREAD HOSE DIMENSION
o e T PARTNO 2 o R R
45° WEALESIER B =2
E DN DASH A C H S2
22241-04-04 G1/4x19 6 4 409 8 188 19
22241-06-06 G3/8x19 10 6 453 9 21 22
22241-08-08 G1/2x14 12 8 589 105 24 27
22241-12-12 G3/4x14 20 12 77.4 135 30 32
22241-14-14 G1x11 25 16 827 155 315 41

22241-20-20 G1-1/4x11 32 20 97.3 155 36.6 50

F BSP - Flat Seal - 90° THREAD HOSE DIMENSION
PART NO P -

90° HERIRKFHE m g BX r
A E DN DASH A C H S2
- ey 22291-04-04 G1/4x19 6 4 30 8 345 19
= . 3 22291-06-06 G3/8x19 10 6 353 9 413 22
/ 22291-08-08 G1/2x14 12 8 41 105 48 27
T 22291-12-12 G3/4x14 20 12 655 13.5 63.5 32
22291-16-16 G1x11 25 16 76.7 155 70 41
Ol BEL 22291-20-20 G1-1/4x11 32 20 91.5 15.5 82.5 50
FE 22291-24-24 G1-1/2x11 40 24 109 17.5 985 55

22291

www.laikehydraulics.com
B25 +86 574 8847 2489




K<

LAIKE %8

ORFS FLAT SEAL SERIES ZEf#|ORFSERSEHEIOFZ BT RS

M ORFS - Flat Seal SART NO THREAD HOSE  O-RING DIMENSION
ZHORFSIMBNTFHEONEZSE = = B X wg o2 R ¥
E DN DASH O A C s1
14211-04-04  9/16"X18 6 4 0011 22 98 17
14211-06-04  11/16"X16 6 0012 24 11 19
14211-06-06  11/16"X16 10 6 0012 24 11 19
A 14211-08-06  13/16"X16 10 6 0014 28 13 22
| 14211-08-08  13/16"X16 12 8 0014 29 13 22
5% — 14211-08-10  13/16"X16 16 10 0014 29 13 22
w 14211-10-08  1"X14 12 8 0016 33 16 27
14211-10-10  1"X14 16 10 0016 34 16 27
T o $1 14211-12-08  1.3/16"X12 12 8 0018 36 17 32
142111210 1.3/16'X12 16 10 0018 37 17 32
142111212 1.3/16"X12 20 12 0018 37 17 32
14211 14211-16-12  1.7/16'X12 20 12 0021 37 18 38
14211-16-16  1.7/16"X12 25 16 0021 39 18 38
142112020 1.11/16"X12 32 20 0025 42 18 46
14211-24-24  2"X12 40 24 0029 44 18 55
F ORFS - Flat Seal SART NO THREAD HOSE DIMENSION
ZHoRFSHIBNFHOMESRE $a = B ® ¥E R o
E DN DASH A C S2
24211-04-04  9/16"X18 6 4 225 85 19
24211-04-05  9/16"X18 8 5 225 85 19
24211-04-06  9/16"X16 10 6 225 85 19
L. A 24211-06-06  11/16'X16 10 6 255 10 22
%) @ 24211-06-08  11/16"X16 12 8 26 10 22
Lu‘_______g___ T 242110808  13/16"'X16 12 8 28 11 27
i || [LLETLL J 24211-08-10  13/16"X16 16 10 29 11 27
T 21211-10-10  1'X14 16 10 335 14 30
S 24211-10-12  1"X14 20 12 335 14 30
24211-12-12  13/16'X12 20 12 35 15 36
24211 / 24211-T 242111216 13/16"X12 25 16 36 15 36
24211-1620  1.7/16'X12 32 20 395 15 41
24211-06-04T 11/16"X16 6 4 235 10 22
24211-06-05T 11/16'X16 8 5 235 10 22
24211-08-05T 13/16'X16 8 5 25 11 27
24211-08-06T 13/16'X16 10 6 25 11 27
24211-10-08T  1"X14 12 8 295 14 30
24211-12-08T 13/16"X12 12 8 305 15 36
24211-12-10T  13/16"X12 16 10 315 15 36
24211-16-12T  1.7/16'X12 20 12 35 15 41
24211-16-14T  1.7/16'X12 22 14 34 15 41
24211-16-16T 1.7/16'X12 25 16 35 15 41
24211-20-16T 1.11/16"X12 25 16 35 15 50
24211-24-20T  2"X12 32 20 36 15 60
24211-24-24T  2"X12 40 24 36 15 60
24211-20-20W 1.11/16"X12 32 20 395 15 50
24211-20-24W 1.11/16'X12 40 24 395 15 50

B26

www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

ORFS FLAT SEAL SERIES ZEf#|ORFSERSEHEIOFZ BT RS

F ORFS - Flat Seal - 45°

45°EHIORFSIBSISEHEIOZ B %55

24241/24241-T

F ORFS - Flat Seal - 90°

90°3EHl ORFSPIIR S EHOF B =R+

A
P
fa

I
O K S2
1

24291/24291-T

PART NO
B 8

24241-04-04
24241-04-05
24241-04-06
24241-06-06
24241-06-08
24241-08-08
24241-08-10
24241-10-10
24241-10-12
24241-12-12
24241-12-16
24241-16-20
24241-06-04T
24241-06-05T
24241-08-06T
24241-10-08T
24241-12-08T
24241-12-10T
24241-16-12T
24241-16-14T
24241-16-16T
24241-20-16T
24241-24-20T
24241-24-24T7
24241-20-20W
24241-20-24W

PART NO
B 5

24291-04-04
24291-04-05
24291-04-06
24291-06-06
24291-06-08
24291-08-08
24291-08-10
24291-10-10
24291-10-12
24291-12-12
24291-12-16
24291-16-20
24291-06-05T
24291-08-06T
24291-10-08T
24291-12-10T
24291-16-12T
24291-16-14T

THREAD
12 W
E

9/16"X18
9/16"X18
9/16"X18
11/16"X16
11/16"X16
13/16"X16
13/16"X16
1"X14
1"X14
1.3/16"X12
1.3/16"X12
1.7/16"X12
11/16"X16
11/16"X16
13/16"X16
1"X14
1.3/16"X12
1.3/16"X12
1.7/16"X12
1.7/16"X12
1.7/16"X12
1.11/16"X12
2"X12
2"X12
1.11/16"X12
1.11/16"X12

THREAD
12 W
E
9/16"X18
9/16"X18
9/16"X18
11/16"X16
11/16"X16
13/16"X16
13/16"X16
1"X14
1"X14
1.3/16"X12
1.3/16"X12
1.7/16"X12
11/16"X16
13/16"X16
1"X14
1.3/16"X12
1.7/16"X12
1.7/16"X12

HOSE
RE
DN DASH
6 4
8 5
10 6
10 6
12 8
12 8
16 10
16 10
20 12
20 12
25 16
32 20
6 4
8 5
10 6
12 8
12 8
16 10
20 12
22 14
25 16
25 16
32 20
40 24
32 20
40 24
HOSE
RE
DN DASH
6 4
8 5
10 6
10 6
12 8
12 8
16 10
16 10
20 12
20 12
25 16
32 20
8 5
10 6
12 8
16 10
20 12
22 14

DIMENSION
R =

A H C
45.5 23 85
47.6 24 85
49.2 25 8.5
51.7 27 10
63.9 29 10
65.3 30 11
76.5 32 11

79.7 35 14
86.5 38 14
87.6 40 15
95.3 41 15
103.8 46 15
39.5 17 10
42.3 19 10
44.6 20 11
58.2 23 14
58.2 23 15
69.4 25 15

74 30 15
78.7 29 15
84.1 30 15
80.9 33 15
94.5 34 15
108.5 38 15
111.2 49 15
1236 53 15

DIMENSION
R I

A H C

30 41 8.5

33 44 8.5

35.3 46 8.5
35.3 50 10
41 55 10
41 57 11

56.5 62 11
56.5 66 14
65.5 76 14
65.5 77 15
76.7 84 15

91.5 96 15
33 38 10
35.3 40 11
41 46 14
56.5 52 15
65.5 63 15

71.2 63 15

S2
19
19
19
22
22
27
27
30
30
36
36
41
22
22
27
30
36
36
41
41
41
50
60
60
50
50

S2
19
19
19
22
22
27
27
30
30
36
36
41
22
27
30
36
41
41

+86 574 8847 2489



K<

LAIKE %8

ORFS FLAT SEAL SERIES ZEf#|ORFSEREEHEIOFZ BT RS

F ORFS - Flat Seal - 90° THREAD HOSE DIMENSION
. PART NO 8 N R o

90°KHIORFSIRAFHOEIEN = = =

E DN DASH A H C s2

A 24291-20-16T 1.11/16"X12 25 16 76.7 675 15 50

V//””"””;’il’l’l"‘l’l'"l"; 24291-24-20T 2"X12 32 20 915 785 14.8 60

/( 24291-24-247 2"X12 40 24 109 92 14.8 60

24291-20-20W  1.11/16"X12 32 20 93 100 15 50

24291-20-24W  1.11/16’X12 40 24 109 114 15 50

.\\\ 1““‘\\\\\\\\\
JH|

N2
Lo

MALE NPT SERIES 7R$EEoMBL RS

M NPT THREAD HOSE DIMENSION
PART NO —
TR EIMES w2 " o wE R =
E DN DASH A C S2
15611-02-03 71/8"X27 5 3 22.5 105 12
15611-02-04 21/8"X27 6 4 225 105 12
15611-04-03 Z1/4"X18 5 3 27.5 15 17
15611-04-04 Z21/4"X18 6 4 28 15 17
15611-04-05 Z1/4"X18 8 5 28 15 17
15611-04-06 Z21/4"X18 10 6 27 15 17
15611-06-04 73/8"X18 4 28 16 19
15611-06-05 Z3/8"X18 8 5 28 16 19
15611-06-06 73/8"X18 10 6 30 16 19
15611-06-08 Z3/8"X18 12 8 30.5 16 19
15611-08-06 71/2"X14 10 6 34.5 195 22
15611-08-08 21/2"X14 12 8 345 195 22
15611-08-10 71/2"X14 16 10 36 195 22
15611-12-08 Z3/8"X14 12 8 37.5 19.5 27
15611-12-10 Z23/4"X14 16 10 38 195 27
15611-12-12 Z23/4"X14 20 12 38.5 195 27
15611-12-16 Z23/4"X14 25 16 39.5 195 32
15611-16-10 Z1"X11.5 16 10 45 255 36
15611-16-12 Z1"X11.5 20 12 45 255 36
15611-16-16 Z1"X11.5 25 16 445 255 36
15611-20-16 Z1.1/4"X11.5 25 16 495 26.5 46
15611-20-20 71.1/4"X11.5 32 20 49 26.5 46
15611-24-24 Z1.1/2"X11.5 40 24 51 275 50
15611-32-32 Z2"X11.5 50 32 55 27.5 65
M NPT - SWIVEL
S
’#“ THREAD HOSE DIMENSION
=S g 2 ®®  wE R ¢
i E DN DASH A S2
L | L"I-L_UULLU“_L_ 15611SW-04-04 Z71/4"X18 6 4 56 19
E 52 15611SW-06-06 Z3/8"X18 10 6 60 22
15611SW-08-08 Z71/2"X14 12 8 66 27
15611'SW 15611SW-12-12 Z3/4"X14 20 12 68.4 32
B28 www.laikehydraulics.com

+86 574 8847 2489



K<

LAIKE %8

SAE WITH O-RING SEAL SERIES ZEfHSAEIMELGHOF B Z S

M SAE - O-Ring Seal
KHISAEIMBESGF O E

PART NO
B =

16011-04-04
16011-05-06
16011-06-05
16011-06-06
16011-08-06
16011-08-08
16011-10-08
16011-10-10
16011-12-10
16011-12-12
16011-16-16

THREAD
2 o
E
7/16"X20
1/2"X20
9/16"X18
9/16"X18
3/4"X16
3/4"X16
7/8"X14
7/8"X14
1.1/16"X12
1.1/16"12
1.5/16"X12

HOSE
RE
DN DASH
6 4
6 4
8 5
10 6
10 6
12 8
12 8
16 10
16 10
20 12
25 16

ORE R =
o A C
0904 22 9.1
0905 22 9.1
0906 23 9.9
0906 23 9.9
0908 25 11
0908 25 11
0910 30 13
0910 31 13
0912 34 15
0912 34 15
0916 36 15

O-RING DIMENSION

S1
14
17
17
17
22
22
27
27
32
32
38

JIC 74° CONE SEAL SERIES ZEHICRIRE74° SEEZEI RS

M JIC - 74° Cone Seal
SEhncyMRESI74° SMHER

74°<> | 4

S1

16711

PART NO
B =

16711-04-03
16711-04-04
16711-05-04
16711-05-05
16711-05-06
16711-06-04
16711-06-05
16711-06-06
16711-08-06
16711-08-08
16711-10-06
16711-10-08
16711-10-10
16711-12-08
16711-12-10
16711-12-12
16711-12-16
16711-14-10
16711-14-12
16711-16-12
16711-16-16
16711-20-16
16711-20-20
16711-24-20
16711-24-24
16711-32-32

THREAD
2 o
E
7/16"X20
7/16"X20
1/2"X20
1/2"X20
1/2"X20
9/16"X18
9/16"X18
9/16"X18
3/4"X16
3/4"X16
7/8"X14
7/8"X14
7/8"X14
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.3/16"X12
1.3/16"X12
1.5/16"X12
1.5/16"X12
1.5/8"X12
1.5/8"X12
1.7/8"X12
1.7/8"X12
2.1/2"X12

B29

HOSE
RE
DN DASH
5 3
6 4
6 4
8 5
10 6
6 4
8 5
10 6
10 6
12 8
10 6
12 8
16 10
12 8
16 10
20 12
25 16
16 10
20 12
20 12
25 16
25 16
32 20
32 20
40 24
50 32

DIMENSION

R =
A C
26 14
26.5 14
26.5 14
26.5 14
26.5 14
26.5 14
26.5 14
26.5 14
315 17
32 17
32 19
34.3 19
35.5 19
39 22
40 22
40 22
41 22
41.5 23
40.6 23
42.5 23
43.5 23
46.5 24
47.5 24
53 28
53 28
62 34

www.laikehydraulics.com
+86 574 8847 2489

S1
12
12
14
14
17
17
17
17
22
22
24
24
24
27
27
27
30
32
32
36
36
46
46
50
50
65




K<

LAIKE %8

JIC 74° CONE SEAL SERIES SEHIICPIIRL74° SHEMBZEIRSY

M JIC - 74° Cone Seal
SEhncyMRESI74° SMHER

T

74 i>€
N

16711L

F JIC - 74° Cone Seal
SEHlICPIIES74° PISEM

C A

/\—C-——A
/ ’ >
74° EH—L L
\ L
\ .
5 \- 82

//A\\fc—-A
74 I‘EL L
L
° A YA

PART NO
B =

16711L-04-04
16711L-05-04
16711L-05-05
16711L-06-04
16711L-06-05
16711L-06-06
16711L-08-06
16711L-08-08
16711L-10-06
16711L-10-08
16711L-10-10
16711L-12-08
16711L-12-10
16711L-12-12
16711L-16-12
16711L-16-16
16711L-20-16
16711L-20-20
16711L-24-20
16711L-24-24

PART NO
B 5

26711-04-03
26711-04-04
26711-05-04
26711-05-05
26711-05-06
26711-06-04
26711-06-05
26711-06-06
26711-06-08
26711-08-06
26711-08-08
26711-08-10
26711-10-08
26711-10-10
26711-10-12
26711-12-10
26711-12-12
26711-12-16
26711-14-12
26711-16-16
26711-16-20
26711-12-08T
26711-16-12T
26711-20-16T

THREAD
2 N
E
7/16x20
1/2x20
1/2x20
9/16x18
9/16x18
9/16x18
3/4x16
3/4x16
7/8x14
7/8x14
7/8x14
1-1/16x12
1-1/16x12
1-1/16x12
1-5/16x12
1-5/16x12
1-5/8x12
1-5/8x12
1-7/8x12
1-7/8x12

THREAD
2
E

7/16"X20
7/16"X20
1/2"X20
1/2"X20
1/2"X20
9/16"X18
9/16"X18
9/16"X18
9/16"X18
3/4"X16
3/4"X16
3/4"X16
7/8"X14
7/8"X14
7/8"X14
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.5/16"X12
1.5/16"X12
1.1/16"X12
1.5/16"X12
1.5/8"X12

HOSE
e
DN DASH
6 4
6 4
8 5
6 4
8 5
10 6
10 6
12 8
10 6
12 8
16 10
12 8
16 10
20 12
20 12
25 16
25 16
32 20
32 20
40 24
HOSE
e
DN DASH
5 3
6 4
6 4
8 5
10 6
6 4
8 5
10 6
12 8
10 6
12 8
16 10
12 8
16 10
20 12
16 10
20 12
25 16
20 12
25 16
32 20
12 8
20 12
25 16

DIMENSION
R 3
A C
45 325
43 30.5
43 30.5
47 325
47 325
47 32.5
51 36.5
51.5 36.5
56.5 40
57 40
58 40
63.5 445
64 44.5
64.5 445
66 44.5
67 44.5
70.5 45.7
71.2 457
71.5 46
71.5 46
DIMENSION
R I

A C
14.5 9
15 9
15.5 9.5
15.5 9.5
15.5 9.5
15.5 10.5
15.5 10.5
15.5 10.5
16 10.5
17.5 11
18 11
19.5 11
18.5 13
20 13
20 13
215 15
215 15
23 15
21.5 15
23 16
24 16
19 15
18.5 16
23 17

DOU

+86 574 8847 2489

S1
17
19
19
22
22
22
24
24
30
30
30
36
36
36
41
41
50
50
55
55

50




K<

— JIC 74° CONE SEAL SERIES SEHI)ICPIIRE74° I ZRS

M JIC - 74° Cone Seal THREAD HOSE DIMENSION
PART NO 8 i - R
EHICHMEL74° JMETE T ‘ o

E DN DASH A C s1
26711-24-20W  1.7/8'X12 32 20 2655 20 55
26711 26711-24-24W  1.7/8'X12 40 24 265 20 55
26711-32-24T  2.1/2"X12 40 24 27 235 75

26711-32-32T 2.1/2"X12 50 32 27 235 75

F JIC - 74° Cone Seal - Double THREAD HOSE DIMENSION
PART NO
Hexagon 2 8 * Eﬂ DNE'X%I;ASH A }E 5\11. s2
o —
KHlNCPURS74” PIETEINZ SR ,c)11p.04.04 7/16"X20 6 4 20 9 15 15
26711D-05-04  1/2"X20 6 4 205 95 17 17
26711D-06-04  9/16"X18 6 4 21 105 19 19
26711D-06-06  9/16"X18 10 6 21 105 19 19
26711D-08-06  3/4"X16 10 6 25 11 24 24
26711D-08-08  3/4"X16 12 8 245 11 24 24
26711D-08-10  3/4"X16 16 10 255 11 24 24
26711D-10-08  7/8"X14 12 8 28 13 27 27
26711D-10-10  7/8"X14 16 10 29 13 27 27
26711D 26711D-12-12  1.1/16"X12 20 12 315 15 32 32

26711D-16-12 1.5/16"X12 20 12 335 16 41 41
26711D-16-16 1.5/16"X12 25 16 345 16 41 41
26711D-16-20 1.5/16"X12 32 20 365 16 41 41
26711D-20-20 1.7/16"X12 32 20 39 17 50 50

F JIC - 74° Cone Seal - Small THREAD HOSE DIMENSION
PART NO .

Double Hexagon B 2 B o " R o
SEHICPIREN74° PUEETNF - TR R A R RS
" 26711D-04-045M  7/16"X20 6 4 20 9 12 15
i 26711D-05-045M  1/2"X20 6 4 205 95 12 17
26711D-06-04SM 9/16"X18 6 4 21 105 14 19
26711D-06-065SM 9/16"X18 10 6 21 105 17 19
26711D-08-065M  3/4"X16 10 6 23 11 19 24
26711D-08-085M  3/4"X16 12 8 245 11 22 24
26711D-08-10SM  3/4"X16 16 10 255 11 22 24
26711D-10-085M 7/8"X14 12 8 24 13 22 27
26711D-10-10SM  7/8"X14 16 10 27 13 22 27
26711D-SM 26711D-12-12SM  1.1/16"X12 20 12 315 15 27 32
26711D-16-12SM 1.5/16"X12 20 12 315 16 32 41

26711D-16-16SM 1.5/16"X12 25 16 325 16 32 41
26711D-20-20SM  1.7/16"X12 32 20 37 17 41 50

www.laikehydraulics.com
B31 +86 574 8847 2489




K<

LAIKE %8

JIC 74° CONE SEAL SERIES SEHICPIIRL74° SHEMBZEIRSY

F JIC - 74° Cone Seal - 45°
45°3E ) CPIIRA74° PO

740 Y [ \-s2

26741-W

F JIC - 74° Cone Seal - 90°
90°3EHlICAIES74° POHET

26791-T

PART NO
B =

26741-04-03
26741-04-04
26741-05-04
26741-05-05
26741-05-06
26741-06-04
26741-06-05
26741-06-06
26741-06-08
26741-08-06
26741-08-08
26741-10-08
26741-10-10
26741-10-12
26741-12-08
26741-12-10
26741-12-12
26741-12-16
26741-14-12
26741-16-12
26741-16-16
26741-16-20
26741-20-20W
26741-24-20W
26741-24-24W
26741-32-32W

PART NO
B =

26791-04-03
26791-04-04
26791-05-04
26791-05-05
26791-05-06
26791-06-04
26791-06-05
26791-06-06
26791-06-08
26791-08-06
26791-08-08
26791-08-10
26791-10-08
26791-10-10
26791-10-12
26791-12-08
26791-12-10

B32

THREAD
2 o
E

7/16"X20
7/16"X20
1/2"X20
1/2"X20
1/2"X20
9/16"X18
9/16"X18
9/16"X18
9/16"X18
3/4"X16
3/4"X16
7/8"X14
7/8"X14
7/8"X14
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.1/16"X12
1.3/16"X12
1.5/16"X12
1.5/16"X12
1.5/16"X12
1.5/8"X12
1.7/8"X12
1.7/8"X12
21.1/2"X12

THREAD
12 W
E
7/16"X20
7/16"X20
1/2"X20
1/2"X20
1/2"X20
9/16"X18
9/16"X18
9/16"X18
9/16"X18
3/4"X16
3/4"X16
3/4"X16
7/8"X14
7/8"X14
7/8"X14
1.1/16"X12
1.1/16"X12

HOSE

RE
DN DASH A
5 3 376
6 4 40.2
6 4 405
8 5 427
10 6 446
6 4 405
8 5 427
10 6 443
12 8 56.8
10 6 457
12 8 586
12 8 589
16 10 70.1
20 12 77
12 8 60
16 10 71.2
20 12 77.4
25 16 853
20 12 77.4
20 12 77.4
25 16 857
32 20 96.3
32 20 96.6
32 20 101
40 24 115
50 32 136

HOSE

RE
DN DASH A
5 3 265
6 4 30
6 4 30
8 5 33
10 6 353
6 4 30
8 5 33
10 6 353
12 8 41
10 6 353
12 8 41
16 10 56.5
12 8 41
16 10 56.5
20 12 67
12 8 41
16 10 56.5

DIMENSION
R =
C H
9 17.2
9 181
9.5 185
9.5 193
9.5 203
10.5 18.5
10.5 193
105 20
10.5 21.9
11 214
11 235
13 24
13 253
13 28.9
15 25
15 264
15 30
15 31
15 30
16 30
16 315
16 355
17 35.9
20 40.1
20 441
23.5 51.6

DIMENSION
R =
C H
30.5
33.5
95 34
9.5 37
9.5 393
10.5 34
105 37
10.5 39.3
10.5 455
11 413
11 47
11 515
13 48
13 525
13 64
15 495
15 54

9
9

www.laikehydraulics.com
+86 574 8847 2489

15
15
17
17
17
19
19
19
19
24
24
27
27
27
32
32
32
32
36
41
41
41
50
55
55
75

S2
15
15
17
17
17
19
19
19
19
24
24
24
27
27
27
32
32




K<

LAIKE %8

JIC 74° CONE SEAL SERIES SEHICAIRE74° SHEEZTIER

F JIC - 74° Cone Seal - 90° THREAD HOSE DIMENSION
PART NO 8 - R <
90°3EHlIICPIIREI74° FISEE B2 =
E DN DASH A C H S2
26791-12-12 1.1/16"X12 20 12 65,5 15 63.5 32
26791-12-16 1.1/16"X12 25 16 76.7 15 70 32
26791-14-12 1.3/16"X12 20 12 65,5 15 63.5 36
26791-16-12 1.5/16"X12 20 12 65.5 16 63.5 41
26791-16-16 1.5/16"X12 25 16 76.7 16 70 41
26791-16-20 1.5/16"X12 32 20 915 16 81 41
26791-20-20W 1.5/8"X12 32 20 915 17 80.5 50
26791-24-20W 1.7/8"X12 32 20 915 20 795 55
26791 W 26791-24-24W 1.7/8"X12 40 24 109 20 94 55
= 26791-32-32W 2.1/2"X12 50 32 133 235 122 75
F JIC - 74° Cone Seal - 90° THREAD HOSE DIMENSION
PARTNO 45 ] R
Compact B =
E DN DASH A C H S1 S2

90°EFHI B NCRIEL74° RHEE

26791K-04-04  7/16"X20 6 4 175 9 18 11 15

26791K-06-04 9/16"X18 6 4 19 105 21 14 19
- % 26791K-06-06 9/16"X18 10 6 20 105 21 16 19
LA - 26791K-08-06  3/4"X16 10 6 23 11 25 19 24
TRY - 26791K-08-08  3/4"X16 11 8 235 11 25 22 24
T ' 26791K-10-08  7/8"X14 12 8 235 13 275 22 27
g : 26791K-10-10 7/8"X14 16 10 25 13 275 22 27
; S2 26791K-12-12 1.1/16"X12 20 12 275 15 30 27 32
ée 26791K-16-16 1.5/16"X12 25 16 43 16 343 33 41
74°

26791-K

www.laikehydraulics.com
+86 574 8847 2489

B33




K<

N— SAE 90° CONE SEAL SERIES SEHISAESREI00° HEEIZRS)
M SAE - 90° Cone THREAD HOSE DIMENSION
PART NO 8 i - R
EHISAESMESI90° JMEE B s ' =
E DN DASH A C S1
=2 17811-04-04  7/16"X20 6 4 255 127 12
_%% 17811-05-05  1/2"X20 8 5 27 142 14
SOOO - - ] 17811-06-06 5/8"X18 10 6 285 157 17
17811-08-08  3/4"16 12 8 34 19 22
s1 17811-10-10  7/8"X14 16 10 385 224 24
17811 17811-12-12  1.1/16"X14 20 12 435 254 30
F SAE - 90° Cone THREAD HOSE DIMENSION
PART NO B i o R
ZE5ISAEPIEBLT90° PIHETE B S ‘ =
E DN DASH A C S2
27811-04-03  7/16"X20 5 3 14 9 15
27811-04-04  7/16"X20 6 4 15 9 15
C_ A 27811-05-05  1/2"X20 8 5 155 95 17
27811-06-04  5/8"X18 6 4 17 113 22
oo s 27811-06-05  5/8"X18 8 5 17 113 22
‘—“—J_EU:I_ 27811-06-06  5/8"X18 10 6 17 113 22
) 27811-08-08  3/4"X16 12 8 18 11 24
= 27811-10-08  7/8"X14 12 8 185 13 27
27811 27811-10-10  7/8"X14 16 10 20 13 27

27811-12-12  1.1/16"X14 20 12 215 143 32

F SAE - 90° Cone - 45° THREAD HOSE DIMENSION
PART NO 8 R R oL
45°ZEFISAEILZLL90° PO B o= k =
E DN DASH A C S1 S2
27841-04-03 7/16"X20 5 3 37.6 9 17.2 15
27841-06-04 5/8"X18 6 4 42 11.3 199 22
27841-06-05 5/8"X18 8 5 441 11.3 20.7 22
27841-06-06 5/8"X18 10 6 45,7 113 214 22
27841-08-08 3/4"X16 12 8 58.2 11 233 24
27841-10-08 7/8"X14 12 8 58.2 13 233 27
27841-10-10 7/8"X14 16 10 69.4 13 246 27

27841-12-12  1.1/16"X14 20 12 774 143 30 32

B34 www.laikehydraulics.com

+86 574 8847 2489



K<

LAIKE %8

SAE 90° CONE SEAL SERIES ZEHISAEIRLY90° $EFE RS

F SAE - 90° Cone - 90°
90°3EHISAEIIREI90° FIHET]

PART NO
B =

27891-04-03
27891-06-04
27891-06-05
27891-06-06
27891-10-08
27891-10-10
27891-12-12

THREAD
12 o
E
7/16"X20
5/8"X18
5/8"X18
5/8"X18
7/8"X14
7/8"X14
1.1/16"X14

HOSE
mE

DN DASH
5 3

6 4

8 5
10 6
12 8
16 10
20 12

A
26.5
30
33
35.3
41
56.5
65.5

DIMENSION
R =
H C
9 30.5
11.3 36
11.3 39
11.3 413
13 47
13 515
143 653

S2
15
22
22
22
27
27
32

F NPSM 60° CONE SEAL SERIES ZEHINPSMPIRLY60° SMEE RS

F NPSM - 60° Cone Seal THREAD HOSE DIMENSION
PART NO .
EHINPSMAIRSI60° JMETE B o= 7« e R 7

E DN DASH A C S2
21611-04-04 1/4"X18 6 4 22 4.6 19
21611-04-06 1/4"X18 10 6 22 4.6 19
21611-06-04 3/8"X18 6 4 23 6 22
21611-06-05 3/8"X18 8 5 23 6 22
21611-06-06 3/8"X18 10 6 23 6 22
21611-08-08 1/2"X14 12 8 23.5 7.5 27
21611-12-10 3/4"X14 16 10 27 8.9 32
21611-12-12 3/4"X14 20 12 27 8.9 32
21611 21611-16-12T7 1"X11.5 20 12 25 10.5 41
21611-16-16 1"X11.5 25 16 28.5 10.5 41
21611-20-20W 1.1/4"X11.5 32 20 295 11.2 50
21611-24-20T 1.1/2"X11.5 32 20 29.5 11.2 55
21611-24-24W 1.1/2"X11.5 40 24 31.5 11.2 55
21611-32-32W 2"X11.5 50 32 31 11.2 70

www.laikehydraulics.com
+86 574 8847 2489

B35




K<

LAIKE %8

CODE 61 FLANGE SERIES SAE;%&==3000PSIZ%!

Code 61 Flange - 3,000 PSI PART NO SIZE HoiE DIMENSION
SAEi£2£3000PS! mo= R e R 3
DN DASH A C D L
87311-08-08 /2" 12 8 46 30 24 7
87311-12-08 3/4" 12 8 47 38 32 7
1 A 87311-12-10 3/4" 16 10 48 38 32 7
87311-12-12 3/4" 20 12 48 38 32 7
fj?;” 2o s —  87311-12-16 3/4" 25 16 49 38 32 7
Olr1 Jﬂﬂ]ﬂm 87311-16-12 1" 20 12 51 44 38 8
| 87311-16-16 1" 25 16 52 44 38 8
87311-16-20 1" 32 20 53 44 38 8
87311 87311-20-16 11/4" 25 16 57 51 43 8
87311-20-20 1.1/4" 32 20 58 51 43 8
87311-24-20 11/2" 32 20 68 60 50 8
87311-24-24 11/2" 40 24 68 60 50 8
87311-32-24 2" 40 24 70 71 62 10
87311-32-32 2" 50 32 70 71 65 10
87311-40-40 21/2" 64 40 76 8 74 10
Code 61 Flange - 3,000 PSI - PART NO SIZE HoiE DIMENSION
45° B s R = R I
=
45°SAEjZ=3000PSI e oo
== 87341-08-08 /2" 12 8 58 30 24 23 7
87341-12-08 3/4" 12 8 59 38 32 24 7
A 87341-12-10 3/4" 16 10 70 38 32 25 7
W”L = 87341-12-12 3/4" 20 12 77 38 32 29 7
o % 7 87341-16-12 1" 20 12 77 44 38 29 8
& 87341-16-16 1" 25 16 85 44 38 30 8
K/ 87341-16-20 1" 32 20 95 44 38 34 8
87341-20-16 11/4" 25 16 85 51 43 30 8
87341 87341-20-20 11/4" 32 20 95 51 43 34 8
87341-24-20 11/2" 32 20 9 60 50 35 8
87341-24-24 11/2" 40 24 110 60 50 39 8
87341-32-24 2" 40 24 110 71 62 39 10
87341-32-32 2" 50 32 129 71 62 46 10
Code 61 Flange - 3,000 PSI - PART NO SIZE HOSE DIMENSION
90° 8 £ Ry = R o
o p i DN DASH A C D H L
90°SAEEZ=3000PS! 87391-08-08 1/2" 12 8 41 302 24 47 673
87391-12-08 3/4" 12 8 41 381 31748 673
87391-12-10 3/4" 16 10 56.5 37.1 317 52.5 6.73
87391-12-12 3/4" 20 12 662 381 31.7 62 6.73
87391-12-16 3/4" 25 16 76.7 38.1 31.7 67.5 6.73
87391-16-12 1" 20 12 662 444 38 62 8
87391-16-16 1" 25 16 78 444 38 675 8
87391-16-20 1" 32 20 915 444 38 785 8
87391-20-16 11/4" 25 16 78 50.8 43 675 8
87391-20-20 1.1/4" 32 20 915 50.8 43 785 8

* Continued on next page / ¥ &

www.laikehydraulics.com
B36 +86 574 8847 2489




K<

LAIKE %8

CODE 61 FLANGE SERIES SAE}%:==3000PSIZ%!

Code 61 Flange - 3,000 PSI - PART NO SIZE HOSE DIMENSION
90° wm g8 Ry ¥ R 9
e n i DN DASH A C D H L
90°SAEZ=3000PS! 87391-24-20 1.1/2" 32 20 92 60 50 81 8
87391-24-24 1.1/2" 40 24 109 60 50 94 8
87391 87391-32-24 2" 40 24 109 71 62 94 10
87391-32-32 A 50 32 132 71 62 114 10
87391-40-32 2.1/2" 50 32 132 84 75 114 10
Code 61 Flange - 3,000 PSI - PART NO SIZE HOSE DIMENSION
20" Long Drop 2 % R DNExIE)ASH A C = D T H L
) N ]
90°SAEZ=3000PS! 87391-12-12H90 3/4" 20 12 66 38 32 90 7
- 87391-12-12H100  3/4" 20 12 66 38 32 100 7
= L 87391-12-12H127  3/4" 20 12 66 38 32 127 7
7 1] 87391-12-12H150  3/4" 20 12 66 38 32 150 7
_ / 87391-16-16H100 1" 25 16 77 44 38 100 8
£ 87391-16-16H127 510 25 16 77 44 38 127 8
N/ 7a 87391-16-16H150 1" 25 16 77 44 38 150 8
c 87391-20-20H100  1-1/4" 32 20 92 51 43 100 8
87391-H 87391-20-20H127  1-1/4" 32 20 92 51 43 127 8
87391-20-20H150  1-1/4" 32 20 92 51 43 150 8
87391-24-24H127  1-1/2" 40 24 109 60 50 127 8
87392-16-12H130 G 20 12 66 44 38 130 10
87392-16-16H130 1" 25 16 77 44 38 130 10
CODE 62 FLANGE SERIES SAE;%&=6000PSIZ 4
Code 62 Flange - 6,000 PSI PART NO SIZE HOSE DIMENSION
SAEE2£6000PS! o= R e R 3
DN DASH A C D L
87611-08-08 1/2" 12 8 47 32 24 8
87611-12-10 3/4" 16 10 51 41 32 9
1 A 87611-12-12 3/4" 20 12 51 41 32 9
] 87611-16-12 1" 20 12 56 48 38 10
@” 7ot . 87611-16-16 1" 25 16 57 48 38 10
0l NI — . 87611-16-20 1" 32 20 61 48 38 10
| ] 87611-20-16 1.1/4" 25 16 65 54 44 10
87611-20-20 1.1/4" 32 20 66 54 44 10
87611 87611-24-20 1.1/2" 32 20 75 64 51 13
87611-24-24 1.1/2" 40 24 75 64 51 13
87611-32-24 2" 40 24 8 79 67 13
87611-32-32 2" 50 32 8 79 67 13
B37 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

CODE 62 FLANGE SERIES SAE}%:=6000PSIZ&%!

Code 62 Flange - 6,000 PSI - PART NO SIZE HOSE DIMENSION
45° 2 = R DNEkIE)ASH A cE DqH L
o N ]
45°SAEIEZ=3000PS! 87641-08-08 1/2" 12 8 59 32 24 24 8
87641-08-12 1/2" 20 12 75 32 24 28 8
A 87641-12-10 3/4" 16 10 73 41 32 28 9
W”L = 87641-12-12 3/4" 20 12 79 41 32 32 9
| 7 87641-16-16 1" 25 16 90 48 38 35 10
< 87641-20-20 1.1/4" 32 20 104 54 44 42 10
X/ 87641-24-20 1.1/2" 32 20 106 64 51 45 13
87641-24-24 1.1/2" 40 24 116 64 51 46 13
87641 87641-32-24 2" 40 24 125 79 67 55 13
87641-32-32 7 50 32 136 79 67 53 13
Code 62 Flange - . HOSE DIMENSION
‘ ge - 6,000 PSI PART NO SIZE s R
90 B S RT oN pash A ¢ b H L
oQ ApIEaL
90°SAEZ=3000PS| 87691-08-08 1/2" 12 8 41 317 24 48 7.5
87691-12-10 3/4" 16 10 56 413 32 565 876
87691-12-12 3/4" 200 12 655 413 32 66 876
87691-16-12 i 20 12 655 47.6 38 69 9.53
87691-16-16 1" 25 16 76.7 47.6 38 745 9.53
87691-16-20 1" 32 20 915 47.6 38 855 9.53
87691-20-16 1-1/4" 25 16 767 54 44 785 10.3
87691-20-20 1-1/4" 32 20 915 54 44 89.5 10.3
87691-24-20 1-1/2" 32 20 915 63.5 51 945 12.6
87691-24-24 1-1/2" 40 24 109 63.5 51 108 12.6
87691-32-24 2" 40 24 109 79.4 67 116 12.6
87691-32-32 2" 50 32 132 79.4 67 136 12.6
Code 62 Flange - 6,000 PSI - PART NO SIZE HOSE DI,“_:ENSl_?N
o . = =] i
90" - I_.:ng Drop B = RT N pash A ¢ b H L
SAEZ=6000PSI 87691-12-12H90 3/4" 20 12 655 413 32 90 8.76
87691-12-12H100 3/4" 20 12 655 413 32 100 8.76
'%ml 87691-12-12H127 3/4" 20 12 655 413 32 127 8.76
g : 87691-12-12H150 3/4" 20 12 655 413 32 150 8.76
i 87691-16-16H100 1" 25 16 76.7 47.6 38 100 9.53
= ! 87691-16-16H127 1" 25 16 76.7 47.6 38 127 9.53
. D| 87691-16-16H150 1" 25 16 76.7 47.6 38 150 9.53
5 87691-20-20H100 1-1/4" 32 20 91.5 54 44 100 10.3
87691-20-20H127 1-1/4" 32 20 91.5 54 44 127 103
87691-H 87691-20-20H150 1-1/4" 32 20 91.5 54 44 150 10.3

87691-24-24H127 1-1/2" 40 24 109 60.3 50 127 8

www.laikehydraulics.com
B33 +86 574 8847 2489




K<

LAIKE %8

CODE 61 SPLIT FLANGE SAEXSFRE=:323000PS!

COI;;;lﬁilz ;IET FLANGE PARTNO SIZE D'gENS\l}) N BOLT v,; ;'
SAEXIFFiZ2£J23000PSI y 2 R< :
‘ B SR 4 5 m a v n B

FL-08 1/2" 54 46 38 9 18 38 M8X25
FL-12 3/4" 65 52 48 11 22 48 M10X30 34.5
i FL-16 1" 70 59 52 11 26 52 MI10X30

_> FL-20 1.1/4" 79 73 59 11 30 59 MI10X30 27.6

FL-24 1.1/2" 94 83 70 14 36 70 M12X35

20.7
| i FL-32 2" 102 97 78 14 43 78 M12X35
FL-40 2.1/2" 114 109 89 14 51 89 M12X40
FL-48 3" 135 131 106 18 62 106 M16X50

CODE 62 SPLIT FLANGE SAEX3FFZE=326000PSI

B= B S RY L 8 M 4 N n B Mpa
FS08  1/2" 56 49 41 9 18 41 MB8X30
FS-12  3/4" 71 62 51 11 24 51 MI10X35
Fs-16 1" 81 71 57 13 28 57 M12X45
FS-20  1.1/4" 95 79 67 15 32 67 M14X50
FS-24  1.1/2" 113 97 79 17 37 79 M16X55
Fs32 2" 133 116 97 21 44 97 M20X70

JIS METRIC 60° CONE SEAL SERIES HZANHIIRE60° HEEZS!

M JIS Metric - 60° Cone Seal THREAD  HOSE DIMENSION
PART NO =
B A%YMEL60° SMETE m g 2R K& R

E DN DASH A B s1
18611-14-04  M14X15 6 4 30 17 17
18611-14-06  M14X1.5 10 6 30 17 17
R 18611-16-04  M16X1.5 6 4 31 18 17
E— 18611-16-06  M16X1.5 10 6 31 18 17
7 - 18611-18-06  M18X1.5 10 6 31 18 19
. 60{ 18611-20-08 M20X1.5 12 8 35 20 22
= » 18611-22-08  M22X1.5 12 8 35 20 24
18611-24-10  M24X1.5 16 10 40 22 27
18611 18611-30-12 M30X1.5 20 12 45 26 32
18611-33-16  M33X1.5 25 16 51 30 36

18611-36-20 M36X1.5 32 20 55 33 38
18611-42-24 M42X1.5 40 24 60 36 46

www.laikehydraulics.com
B39 +86 574 8847 2489




K<

— JIS METRIC 60° CONE SEAL SERIES HAHIZL60° HERT
F JIS Metric - 60° Cone Seal THREAD HOSE DIMENSION
PART NO =
BA2IMIRs0° PISETE m g B2 R R 3
E DN DASH A C S1 S2
28611-12-04  M12X1.5 6 4 20 9 17 17
28611-14-04  M14X1.5 6 4 21 11 19 19
c. A . 28611-14-06  M14X1.5 100 6 21 11 19 19
28611-16-04  M16X1.5 6 4 24 10 22 22
rrrrrrrn 28611-16-05  M16X1.5 8 5 24 10 22 22
60° (L (H— . 28611-16-06  M16X1.5 10 6 24 10 22 22
! 28611-18-06 M18X1.5 10 6 25 12 24 24
S2 T\s1 28611-18-08  M18X1.5 12 8 25 12 24 24
28611-20-08  M20X1.5 12 8 29 12 27 27
28611-22-08  M22X1.5 12 8 26 14 27 27
28611 28611-24-08  M24X1.5 12 8 28 15 32 32
28611-24-10  M24X1.5 16 10 29 15 32 32
28611-27-10  M27X1.5 16 10 29 10 32 32
28611-30-12  M30X1.5 20 12 29 18 36 36
28611-33-12  M33X1.5 20 12 31 21 41 41
28611-33-16  M33X1.5 25 16 32 21 41 41
28611-36-20  M36X1.5 32 20 36 20 46 46
28611-42-24W M42X1.5 40 24 36 19 55 55
F JIS Metric - 60° Cone Seal -45°  , \.rno  THREAD HOSE DIMENSION
45° B F 2 FIAIREA60° M ) R & & R 3
E DN DASH A C H S1 S2
28641-14-04  M14X1.5 6 4 43 11 21 19 19
28641-16-05  M16X1.5 8 5 48 10 24 22 22

28641-18-06 M18X1.5 10 6 49 12 25 24 24
28641-22-06 M22X1.5 12 8 62 14 27 27 27
28641-24-10 M24X1.5 16 10 75 15 30 32 32
28641-30-12 M30X1.5 20 12 81 18 34 36 36
28641-33-16  M33X1.5 25 16 90 21 36 41 41
28641-36-20 M36X1.5 32 20 104 20 42 46 46
28641-42-24W M42X1.5 40 24 116 19 46 50 55

F JIS Metric - 60° Cone Seal - 90° et no THREAD HOSE DIMENSION
90° B AL HIRIEL60° PIRE m = B® wE R 9
E DN DASH A C H S1 S2
28691-14-04 M14X1.5 6 4 30 11 38 19 19

T 28691-14-06  M14X1.5 10 6 36 11 43 19 19
O m 28691-16-05  M16X1.5 8 5 33 10 44 22 22
’ 28691-18-06  M18X1.5 10 6 35 12 46 24 24

/ 28691-22-08  M22X1.5 12 8 41 14 53 27 27
§7. 28691-24-10  M24X1.5 16 10 57 15 59 32 32

JLT : f: 28691-30-2 M30X1.5 20 12 66 18 69 36 36
BT 28691-33-16 M33X1.5 25 16 77 21 76 41 41
2869 1 28691-36-20 M36X1.5 32 20 93 20 90 46 46

28691-42-24W M42X1.5 40 24 109 19 103 55 55

www.laikehydraulics.com
B40 +86 574 8847 2489




K<

LAIKE %8

JIS GAS 60° CONE SEAL SERIES HAZREIRL60° HMEZT!

M JIS GAS - 60° Cone Seal PART NO THREAD HO;E DIMENSION
EAREIMBS60° IMEE m o= BR s R 3

E DN DASH A B S1
% 19611-04-04  G1/4x19 6 6 29 16 17
s e 19611-06-06  G3/8x19 10 10 31 18 19
i 6{ 19611-08-08 G1/2x14 12 12 35 20 22
= L 19611-12-12  G3/4x14 20 20 41 22 30
19611-16-16  G1x11 25 25 44 24 36

19611

F JIS GAS - 60° Cone Sea' THREAD HOSE DIMENSION
PART NO .
AR EEHIRIEs60° FEE m o= RBY e R 9

E DN DASH A C S1 S2
c A 29611-02-03 G1/8"X28 5 3 20 7 14 14
29611-04-04 G1/4"X19 6 4 21 8 19 19
e 29611-04-05 G1/4"X19 8 21 8 19 19
60° E 29611-06-04 G3/8"X19 6 24 9 22 22
9 22 22

Sz 29611-08-06  G1/2"X14 10 28 12 27 27

29611-08-08 G1/2"X14 12 27 12 27 27
29611 29611-10-10 G5/8'X14 16 10 31 12 30 30
29611-12-10 G3/4"X14 16 10 29 14 32 32
29611-12-12 G3/4"X14 20 12 29 14 32 32
29611-16-16 G1"X11 25 16 32 16 41 41
29611-20-20W G1.1/4"X11 32 20 43 19 50 50
29611-24-24W G1.1/2"X11 40 24 44 19 55 55

5

4
29611-06-06 G3/8"X19 10 6 23

6

8

29611-32-32W G2"X11 50 32 47 23 70 70
F JIS GAS - 60° Cone Seal - oARTNG  THREAD HOSE DIMENSION
E DN DASH A C H S1  S2
o e < o
45 E**EWE&GO mi& 29641-04-04 G1/4"X19 6 4 434 8 213 19 19
A | 29641-06-06 G3/8"X19 10 6 489 9 246 22 22

29641-08-08 G1/2"X14 12 8 625 12 275 27 27
29641-12-12 G3/4'X14 20 12 81.3 135 339 32 32
29641-16-16 G1"X11 25 16 873 16 36 41 41
29641-20-20W G1.1/4"X11 32 20 107 185 46.5 50 50
29641-24-24W  G1.1/2"X11 40 24 123 19 50.8 55 55
29641-32-32W  G2'"X11 50 32 143 23 60 70 70

www.laikehydraulics.com
B41 +86 574 8847 2489




K<

LAIKE %8

JIS GAS 60° CONE SEAL SERIES HAZREIRL60° HMEZT!

F JIS GAS - 60° Cone Seal - THREAD HOSE DIMENSION
PART NO "
90° 8 = ﬁsﬁ DNEkIE)ASH A cEHqs1 S2
90"HFREMILRLY60° P 29641-04-04  G1/4"X19 6 4 434 8 213 19 19
@;5 29641-06-06  G3/8"X19 10 6 489 9 246 22 22
= 29641-08-08  G1/2"X14 12 8 625 12 275 27 27
) 4 1 29641-12-12  G3/4'X14 20 12 813 13.5 33.9 32 32
J/ 29641-16-16  G1"X11 25 16 873 16 36 41 41
29641-20-20W G1.1/4"X11 32 20 107 18.5 46.5 50 50
“[EU; 29641-24-24W G1.1/2"X11 40 24 123 19 50.8 55 55
29691 29641-32-32W  G2"X11 50 32 143 23 60 70 70
JIS KOMATSU FLANGE SERIES B#lIiE=Z7%I
JIS KOMATSU Flange PART NO SIZE HO;E DIMENSION
B#liE= Moo= R "E R %
A DN DASH A C D L
L 88111-10-08 5/8" 12 8 45 34 28 7
5 - N 88111-10-10 5/8" 16 10 46 34 28 7
olllal - 88111-10-12 5/8" 20 12 46 34 28 7
88111
JIS KOMATSU Flange - 45°
as°BifliE=
R PART NO SIZE HOSE DIMENSION
e B = R 8 R 3
= o — [ T/ DN DASH A C D H L
= ' 88141-10-08 5/8" 12 8 59 34 28 24 7
< = 88141-10-10 5/8" 16 10 70 34 28 25 7
\/ 88141-10-12 5/8" 20 12 77 34 28 29 7
88141
JIS KOMATSU Flange - 90°
9o°Bi#lix=
PART NO SIZE HOSE DIMENSION
m =2 Ry wE R 9
DN DASH A C D H L
88191-10-08 5/8" 12 8 41 34 28 48 7
88191-10-10 5/8" 166 10 56 34 28 53 7
88191-10-12 5/8" 20 12 66 34 28 62 7
B42 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

SAE STAPLE-LOK MALE et eEn ik

M SAE STAPLE-LOK HOSE DIMENSION
PART NO .

PR EBRA PR B o= == R
DN DASH A C s1 s2
60011-04-04 6 4 31 25 15 11
N 60011-05-05 8 5 34 26 18 13
o 60011-06-06 10 6 33 26 18 15
e R _ 60011-08-06 10 6 34 26 22 18
T [ 1] 60011-08-08 12 8 34 26 22 18
- =L 60011-10-10 16 10 39 30 25 20
60011-12-12 20 12 41 31 28 24
60011 60011-16-14 22 14 41 31 35 30
60011-16-16 25 16 42 31 35 30

METRIC WATER INSERT FITTING N $lI P S E/K EEsL

F Metric Waterwash Inserts PART NO THREAD HOSE DIMENSION
PR Rk e sk m = B¥ e R
E DN DASH A C ) K
A 20011-22-03ST  M22x1.5 5 3 245 14 345 19
j 20011-22-04ST  M22x1.5 6 4 25 14 345 22
I ) 20011-22-05S5T M22x1.5 8 5 25 14 345 27
ol u (7Ll (Esiasme 20011-22-06ST  M22x15 10 6 25 14 345 32
| —
20011-ST
DOUBLE CONNECTOR SELERE
Double Connector PART NO HOSE DIMENSION
TR M= L] R_
DN DASH L
90011-04 6 4 69
90011-05 8 5 69
2 90011-06 10 6 73
90011-08 12 8 77
MULMUJLLHLLMUJM_L 90011-10 16 10 83
90011-12 20 12 93
£ 90011-16 25 16 114
90011/90012 90011-20 32 20 132
90011-24 40 24 162
90011-32 50 32 170
90012-04 6 4 83
* 90012-05 8 5 87
90011 is used with wire braid hose, 90012-06 10 6 87
90012 is used with wire spiral hose. 90012-08 12 8 91
90012-10 16 10 97
9001 LEATFRENRE; 90012-12 20 12 110
900121E BT EERERE. 90012-16 25 16 134
90012-20 32 20 153
90012-24 40 24 172
90012-32 50 32 178
B43 www.laikehydraulics.com

+86 574 8847 2489




K

LAIKE %8

METRIC BANJO SERIES 2\ &I5HE(AZR

JB Metric Banjo PART NO THREAD HOSE DIMENSION
P
DHIBIES m g B8 K R 3
E DN DASH A C | K
70011-10-03 M10X1 5 3 145 101 17 10
R 70011-10-04 M10X1 6 4 17 101 17 10
h 70011-12-04 M12X1.5 6 4 205 121 20 12
— 70011-12-05 M12X1.5 8 5 205 121 20 12
70011-12-06 M12X1.5 10 6 205 12 20 12
70011-14-04 M14X15 6 4 21 14 24 14
70011-14-05 M14X1.5 8 5 21 14 24 14
70011-14-06 M14X15 10 6 21 14 24 14
70011-16-04 M16X1.5 6 4 205 16 28 16
70011-16-05 M16X1.5 8 5 205 16 28 16
70011-16-06 M16X1.5 10 6 205 16 28 16
70011-18-04 M18X1.5 6 4 23 18 32 20
70011-18-05 M18X1.5 8 5 24 18 32 20
70011-18-06 M18X15 10 6 24 18 32 20
70011-18-08 M18X1.5 12 8 245 18 32 20
70011-22-06 M22X15 10 6 281 22 39 25
70011-22-08 M22X1.5 12 8 285 22 39 25
70011-22-10 M22X15 16 10 28 22 39 25
70011-26-12 M26X1.5 20 12 325 26 46 30
70011-30-16 M30X1.5 25 16 37 30 54 36
70011-30-20 M30X1.5 32 20 40 30 54 36
JB Metric Bolt PART NO THREAD DIMENSION
AHIBRIERE m g B R 3
E A C J K
©- A 700M-10 M10x1 19 4 6 6
7 700M-12 M12x1.5 24 6 6 6
3_1\;-* /]A i J 700M-14 M14x1.5 26 8 7 7
; 700M-16 M16x1.5 28 9 75 7.5
______ [ ————— 700M-18 M18x1.5 32 11 8
700M-22 M22x1.5 39 14 9 9
700M 700M-26 M26x1.5 45 18 10 10
700M-30 M30x1.5 51 22 11 11
B44 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

METRIC BANJO SERIES 2\ &I5HE(AZR

JB Metric Banjo PART NO THREAD HOSE DIMENSION
P
DHIBIES m g B8 K R 3
E DN DASH A C J K
71011-06-04 Mé6x1 6 4 16 6 18 12
71011-08-04 M8x1 6 4 17 8 20 13
71011-10-04 M10x1 6 4 19 10 22 13
71011-10-05 M10x1 8 5 19 10 22 13
71011-10-06 M10x1 10 6 19 10 22 13
71011-12-06 M12x1.5 10 6 21 12 26 15
71011-14-04 M14x1.5 6 4 205 14 28 18
71011-14-05 M14x1.5 8 5 215 14 28 18
71011-14-06 M14x1.5 10 6 215 14 28 18
71011-14-08 M14x1.5 12 8 225 14 28 18
71011-16-05 M16x1.5 8 5 22.5 16 32 18
71011-16-08 M16x1.5 12 8 25 16 32 18
71011-18-06 M18x1.5 10 6 26.5 18 36 22
71011-18-08 M18x1.5 12 8 27 18 36 22

71011-18-10 M18x1.5 16 10 275 18 36 22
71011-20-06 M20x1.5 10 6 295 20 36 22
71011-20-08 M20x1.5 12 8 30 20 36 22
71011-22-10 M22x1.5 16 10 305 22 46 30
71011-22-12 M22x1.5 20 12 32 22 46 30
71011-27-10 M27x2 16 10 365 27 56 36
71011-27-14 M27x2 22 14 36 27 56 36
71011-27-16 M27x2 25 16 36 27 56 36
71011-33-12 M33x2 20 12 43 33 64 50
71011-42-20 M42x2 32 20 54 42 78 64
JB Metric Bolt PART NO THREAD DIMENSION
DIERE m g B2 R I
E A C J K
€. A 700M-10 M10x1 19 4 6 6
’771/ S 700M-12 M12x1.5 24 6 6 6
81 | /]A 1 J 700M-14 M14x1.5 26 8 7 7
_\ e o <111}
; 700M-16 M16x1.5 28 9 75 75
______ [ —————— 700M-18 M18x1.5 32 11 8
700M-22 M22x1.5 39 14 9 9
710M 700M-26 M26x1.5 45 18 10 10
700M-30 M30x1.5 51 22 11 11
B45 www.laikehydraulics.com

+86 574 8847 2489




K

LAIKER BSP BANJO ZEiISMzA
BSP Banjo PART NO THREAD HO;E DIMENSION
BRI m g B8 K R 3

E DN DASH A C J K
72011-02-03 G1/8x28 5 3 18 99 24 16
72011-02-04 G1/8x28 6 4 185 99 24 16
72011-04-03 G1/4x19 5 3 19 133 24 15
72011-04-04 G1/4x19 6 4 195 133 24 15
72011-04-05 G1/4x19 8 5 195 13 24 15
72011-04-06 G1/4x19 10 6 195 13 24 15
72011-06-04 G3/8x19 6 4 22 17 29 20
72011-06-05 G3/8x19 8 5 225 17 29 20
72011-06-06 G3/8x19 10 6 225 17 29 20
72011-06-08 G3/8x19 12 8 23 17 29 20
72011-08-05 G1/2x14 8 5 275 21 38 25
72011-08-06 G1/2x14 10 6 275 21 38 25
72011-08-08 G1/2x14 12 8 286 21 38 25
72011-08-10 Gl/2x14 16 10 285 21 38 25
72011-10-10 G5/8x14 16 10 30 23 40 27
72011-12-10 G3/4x14 16 10 315 27 48 31
72011-12-12 G3/4x14 20 12 32 27 48 31
72011-16-08 G1x11 12 8 40 33 60 42
72011-16-12 Glx11 20 12 40 33 60 42
72011-16-16 G1x11 25 16 41 33 60 42
Efp EOIt PART NO THREAD DIMENS‘lJC-)N
BB m g B8 R
. . E A C ) K
) 720B-02 G1/8x28 295 48 48 14
o ’7—”1/ 71/4:‘:[//- ______ 720B-04 G1/4x19 285 6 6 19
BN jlw 720B-06 G3/8x19 385 9 7 22
4 | 720B-08 G1/2x14 44 13 85 27
______ - 720B-10 G5/8x14 485 15 10 30
7203 720B-12 G3/4x14 56 18 10 32
720B-16 Glx1l 685 22 13 41
B46 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE 311 METRIC THREAD 24° CONE WITH O-RING S A HMEL24°HEEEZRS!

M Metric S - 24° Cone

ﬁﬁuyl\mgﬂz4opgsﬁﬁgzg§u THREAD HOSE TUBE DIMENSION
- ';{;“T ”;.:_’ By wE @B 2R <
%E?

10513

10513-36-12  M36x2 20 12 25 44 18 41
10513-42-16  M42x2 25 16 30 46 20 46
10513-52-20 M52x2 32 20 38 53 22 55

F Metric S - 24° Cone
THREAD HOSE TUBE DIMENSION

with O-Ring PART NO o -
QFIPIRLS24 PR EE RS 8 s EgEﬂ DNEAEI;ASH ﬁf A = C T s2
c.A 20513-30-12W M30X2 20 12 20 30 3 36
Z 20513-36-16W M36X2 25 16 25 32 3 41
SIS 20513-42-16W M42X2 25 16 30 33 5 50
< 20513-42-20W M42X2 32 20 30 39 5 50
W 20513-52-24W M52X2 40 24 38 38 7 60
s2 20513-36-12T M36X2 20 12 25 39 3 41
20513 20513-42-12T M42X2 20 12 30 42 5 50
20513-52-20T M52X2 32 20 38 45 7 60
F Metric S - 24° Cone
. . o
with O-Ring - 45 THREAD  HOSE  TUBE DIMENSION
45°ATHIRIRE24 IR R PARTNO  wo' o  m& @ R
B % E DN DASH OD A C H S2
20543-36-12T M36X2 20 12 25 89 3 33 41
20543-42-16W M42X2 25 16 30 102 5 36 50
20543-52-20T M52X2 32 20 38 115 7 39 60
F Metric S - 24° Cone
. ) THREAD  HOSE  TUBE DIMENSION
with O-Ring - 90° PART NO 18 4 e B R <
o\ ° B =
90° A THIMIRA 24" MIEEE RS = E DN DASH OD A C H S2
20593-36-12T M36x2 20 12 25 75 5 68 46
20593-36-16 M36x2 25 16 25 89 5 80 46
20593-42-16 M42x2 25 16 30 8 6 81 50
20593-42-20 M42x2 32 20 30 106 6 92 50
20593-52-20T M52x2 32 20 38 106 7 87 60
20593-52-24 M52x2 40 24 38 124 7 105 60
B47 www.laikehydraulics.com

+86 574 8847 2489




K<

LAIKE %8

BSP THREAD 60° CONE SEAL SERIES ZEEFEL60° $EMEES|

M BSP - 60° Cone Seal
REIMBEA60° PIEH

S1

10513

F BSP - 60° Cone Seal
REMRIBA60° JMEH

L. A -
> N

\s2

22613

F BSP - 60° Cone Seal - 45°
45°REMIEL60° JMET

A
C?/);j—rﬁ
W P e i . |
; I ]

22643

F BSP - 60° Cone Seal - 90°

90°FEE RN 60° JMEE
w4
s s2
C < A E >

PART NO
B S

12613-12-12
12613-16-16
12613-20-20
12613-24-24
12613-32-32

PART NO
B S

22613-12-12W
22613-16-16W
22613-20-20W
22613-24-24W
22613-32-32W

PART NO
B 5

22643-12-12W
22643-16-16W
22643-20-20W
22643-24-24W
22643-32-32W

PART NO
B s

22693-12-12W
22693-16-16W
22693-20-20W
22693-24-24W
22693-32-32W

B48

THREAD
2 W
E

G3/4x14
G1x11
G1-1/4x11
G1-1/2x11
G2x11

THREAD
g«
E

G3/4x14
G1x11
G1-1/4x11
G1-1/2x11
G2x11

THREAD
2
E
G3/4"X14
G1"X11
G1.1/4"X11
G1.1/2"X11
G2"X11

THREAD
12«
E
G3/4"X14
G1"X11
G1.1/4"X11
G1.1/2"X11
G2"X11

HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32
HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32
HOSE
RE
DN DASH
20 12
25 16
3220
40 24
50 32
HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32

DIMENSION
R =
A c s1
40 19 30
45 20 38
49 20 46
53 22 50
59 25 65
DIMENSION
R =
A Cc S2
28 9 32
32 11 41
36 10 50
37 13 55
37 16 70
DIMENSION
R I
A C H
88 11 33
99 12 33
113 11 38
131 13 46
155 16 53
DIMENSION
R =
A C H
74 11 67
92 12 72
106 11 88
124 14 103
149 16 123

www.laikehydraulics.com
+86 574 8847 2489

32
41
50
55
70

32
41
50
55
70




K<

LAIKE %8

BSPT SERIES ZEHEEAIMBLZE

M BSPT THREAD HOSE DIMENSION
PART NO
TR EMEL m B B8 WE R
E DN DASH A c s1
13013-12-12SP R3/4"X14 20 12 38 20 30
13013-16-165P R1"X11 25 16 46 26 38
13013-20-20SP R1.1/4"X11 32 20 51 27 46
13013-24-24SP R1.1/2"X11 40 24 53 27 50
13013-32-32SP R2"X11 50 32 59 30 65
13013-SP
MALE NPT SERIES #pifEEsyMEaLL
M NPT
ﬁ%ﬁ%ﬂ‘ﬂgﬂ PART NO THREAD HO;E DIMENSION
oo L1 = R =
E DN DASH A C S2
15613-12-12 73/4X14 20 12 395 19.05 30
15613-16-16 Z1X11.5 25 16 479 23.88 38
15613-20-20 71-1/4X11.5 32 20 53.8 24.64 46
15613-24-24 71-1/2X11.5 40 24 582 254 50
15613-32-32 72X11.5 50 32 61 2616 65

F NPSM 60° CONE SEAL SERIES SEHINPSMPIREI60° FMEEZS

F NPSM

- 60° Cone Seal

SEHINPSMPIEELL60° M

N

. A o
|
% S
©

oI

\

\ 82

21613-W

PART NO
B S

21613-12-12W
21613-16-16W
21613-20-20W
21613-24-24W
21613-32-32W

B49

THREAD
2
E
3/4X14
1X11.5
1-1/4X11.5
1-1/2X11.5
2X11.5

HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32

DIMENSION
R =
A C S2
27 9 32
30 9 41
33 11 50
37 11 55
37 11 70

www.laikehydraulics.com
+86 574 8847 2489




K<

LAIKE %8

FEMALE ORFS THREAD FLAT SEAL SERIES ZE#ORFSBEL OB ZIT R 5!

F ORFS - Flat Seal THREAD HOSE DIMENSION
B PARTNO 8 R R
SEfIORFSHIRA EH O BT B2
E DN DASH A C S1
c A ‘ 24213-12-12W 1.3/16"X12 20 12 41 15 36

| 24213-16-16W 1.7/16"X12 25 16 44 15 41
24213-20-20W 1.11/16"X12 32 20 48 15 50

1 MMM_L 24213-24-24W  2"X12 40 24 48 15 60

F ORFS - Flat Seal - 45°

45°§$“0RFSWE&$EOH2E\ PART NO THREAD Ho;E DIMENSION
1 e 8 e R
N A E DN DASH A C H S2
i 04943.12-10W 1.3/16'X12 20 12 977 15 42 36

24243-16-16W 1.7/16"X12 25 16 111 15 446 41
24243-20-20W 1.11/16"X12 32 20 124 15 49 50

24243-24-24WN 2"X12 40 24 138 14.8 53.6 60
F ORFS - Flat Seal - 90°
90°EH ORFSIRLIEH ORI
ig PART NO THREAD HOSE DIMENSION
o= 12w RE R
E DN DASH A C H S2

24293-12-12W  1.3/16"X12 20 12 74 15 81 36
24293-16-16W  1.7/16"X12 25 16 89 15 89 41
24293-20-20W  1.11/16"X12 32 20 106 15 100 50
24293-24-24W  2"X12 40 24 123 15 115 60

www.laikehydraulics.com
B50 +86 574 8847 2489




K<

LAIKE %8

FEMALE JIC THREAD 74° CONE SEAL SERIES ZE#IICPtEL74° NI ZRT

F JIC - 74° Cone Seal
SEHNCARtRS74° FIHER

_C_ A
1

I

26713-W

F JIC - 74° Cone Seal - 45°
45°ZE)ICRIIEAI74° POSEE

26743-W

F JIC - 74° Cone Seal - 90°
90°3EHlICAIES74° POHET

PART NO

B =

26713-12-12W
26713-16-16W
26713-20-20W
26713-24-24W
26713-32-32W

PART NO
B S

26743-12-12W
26743-16-16W
26743-20-20W
26743-24-24W
26743-32-32W

PART NO
B =

26793-12-12W
26793-16-16W
26793-20-20W
26793-24-24W
26793-32-32W

F JIC - 74° Cone Seal - Double

Hexagon

26713D-W

SEHICRIIRS74° RSB

PART NO
2 s

26713D-12-12W
26713D-16-16W
26713D-20-20W
26713D-24-24W
26713D-32-32W

B51

THREAD
12 W
E
1.1/16"X12
1.5/16"X12
1.5/8"X12
1.7/8"X12
2.1/2"X12

THREAD
12 W
E
1.1/16"X12
1.5/16"X12
1.5/8"X12
1.7/8"X12
2.1/2"X12

THREAD
12 W
E
1.1/16"X12
1.5/16"X12
1.5/8"X12
1.7/8"X12
2.1/2"X12

THREAD
12 W
E
1-1/16x12
1-5/16x12
1-5/8x12
1-7/8x12
2-1/2x12

HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32
HOSE
WE
DN DASH
20 12
25 16
32 20
40 24
50 32
HOSE
RE
DN DASH
20 12
25 16
32 20
40 24
50 32
HOSE
WRE
DN DASH
20 12
25 16
32 20
40 24
50 32

DIMENSION
R =
A cC s1
27 15 32
29 16 41
32 17 50
35 20 60
35 24 75
DIMENSION
R =
A C H
86.4 15 30
101 16 31.5
113 17 36.6
126 20 41.6
149 24 49
DIMENSION
R =
A C H
74 15 65
89 16 73
106 17 82
124 20 101
150 24 121
DIMENSION
R =
A C H
375 143 30
419 15.1 38
45.3 16.5 46
50.2 19.5 50
52 24 65

www.laikehydraulics.com
+86 574 8847 2489

32
41
50
55
75

32
41
50
55
75

S2
32
41
50
55
75




K<

— FEMALE JIS GAS THREAD 60° CONE SEAL SERIES HZSZ4yiBLy60° R RS
F JIS GAS - 60° Cone Seal pARTNG  THREAD HOSE DIMENSION
| ° 3] oW IRE R ¥
EA5EHI AR5 60°PIHERE B 2
w . E DN DASH A C S1 S2
NEw— 29613-12-12W G3/4x14 20 12 40 14 32 32
A\ : 29613-16-16W G1x11 25 16 44 16 41 4
74| M 29613-20-20W G1-1/4x11 32 20 49 19 50 50

29613-24-24W G1-1/2x11 40 24 49 19 55 55
29613-32-32W G2x11 50 32 52 23 70 70

\s2

29613-W

CODE 62 FLANGE SERIES SAE j%==6000 PSIZ %)

Code 62 Flange - 6000 PSI PART NO SIZE HoiE DIMENSION
SAE i%2£6000 PSI m o= R e R 3
DN DASH A ¢Cc D L
[ 87613-12-12  3/4" 20 12 53 41 32
‘ 7y 87613-16-12 1" 20 12 58 48 38 10
clll o 87613-16-16 1" 25 16 59 48 38 10
M_UHILU_H_L 87613-20-16  1-1/4" 25 16 67 54 44 10
= 87613-20-20 1-1/4" 32 20 70 54 44 10
87613 87613-20-24  1-1/4" 40 24 75 54 44 10
87613-24-20 1-1/2" 32 20 79 64 51 13
87613-24-24  1-1/2" 40 24 79 64 51 13
87613-32-24 2" 40 24 91 79 67 13
87613-32-32 2" 50 32 91 79 67 13
Code 62 Flange - 6000 PSI -45° .ot no SIZE HOSE DIMENSION
45°SAE %2£6000 PSI m o= R = R 3
DN DASH A C D H L
87643-12-12  3/4" 20 12 89 41 32 32
A 87643-16-12 1" 20 12 91 48 38 34 10
e 87643-16-16 1" 25 16 101 48 38 35 10
= 87643-20-16  1-1/4" 25 16 104 54 44 38 10
. 87643-20-20  1-1/4" 32 20 117 54 44 42 10
% 87643-24-20  1-1/2" 32 20 120 64 51 45 13
87643-24-24  1-1/2" 40 24 135 64 51 49 13
87643 87643-32-24 2" 40 24 140 79 67 55 13
87643-32-32 2" 50 32 163 79 67 62 13
Code 62 Flange - 6000 PSI - 90°  ,,c1noO SIZE HOSE DIMENSION
90°SAE j%2£6000 PS| m =2 R wE R 9
DN DASH A C D H L
87693-12-12  3/4" 20 12 75 41 32 66
87693-16-12 1" 20 12 75 48 38 69 10
87693-16-16 1" 25 16 89 48 38 75 10
87693-20-16  1-1/4" 25 16 89 54 44 79 10
87693-20-20  1-1/4" 32 20 106 54 44 90 10
87693-24-20  1-1/2" 32 20 106 64 51 95 13
87693-24-24  1-1/2" 40 24 124 64 51 108 13
87693-32-24 2" 40 24 124 79 67 116 13
87693-32-32 2" 50 32 150 79 67 136 13
B52 www.laikehydraulics.com

+86 574 8847 2489



9000 PSI FLANGE SERIES SAE ;%=29000 PSIZ%!|

Flange - 9000 PSI DART NO - HOSE DIMENSION
~, = >
SAE j%2£9000 PSI m o= Ry e R 3
DN DASH A C D L
A 1 87913-12-12  3/4" 20 12 59 41 32 14
17 87913-16-12 1" 20 12 63 48 38 14
077770
clll I _ 87913-16-16 1" 25 16 64 48 38 14
| 87913-20-16  1-1/4" 25 16 71 54 43 14
il 879132020  1-1/4" 32 20 74 54 43 14
87913 87913-24-20 1-1/2" 32 20 81 64 51 14
87913-24-24  1-1/2" 40 24 81 64 51 14
~, =3 Y
45°SAE $%2£9000 PSI W = Ry = R 3
DN DASH A C D H L
87943-12-12  3/4" 20 12 93 41 32 36 14
87943-16-12 1" 20 12 94 48 38 37 14
87943-16-16 1" 25 16 104 48 38 38 14
87943-20-16  1-1/4" 25 16 105 54 43 38 14
87943-2020  1-1/4" 32 20 117 54 43 42 14
87943-24-20 1-1/2" 32 20 118 64 51 43 14
87943-24-24  1-1/2" 40 24 133 64 51 47 14
90°SAE j£2£9000 PSI m o= Ry e R <
= DN DASH A C D H L
87993-12-12  3/4" 20 12 75 41 32 72 14
87993-16-12 1" 20 12 75 48 38 73 14
87993-16-16 1" 25 16 89 48 38 79 14
87993-20-16  1-1/4" 25 16 89 54 43 80 14
87993-2020  1-1/4" 32 20 106 54 43 91 14
87993-24-20 1-1/2" 32 20 106 64 51 92 14
87993-24-24  1-1/2" 40 24 124 64 51 105 14

DOUBLE CONNECTOR YN EEZ M

Double Connector PART NO HOSE DIMENSION
e, RE R
WEEHES s
DN DASH L
90013-12 20 12 119
90013-16 25 16 150
90013-20 32 20 194
90013-24 40 24 223
90013-32 50 32 235
B53 www.laikehydraulics.com

+86 574 8847 2489



METRIC THREAD 24° CONE WITH O-RING N $HBL24° SRS

Reusable Ferrule for R5

SAE 100 RSERES TR ER PART NO HOSE DIM.
B o= = R =
L DN DASH L S
g o 00518-04 5 4 28 17
00518-05 6 5 31 19
00518-06 8 6 33 22
00518-08 11 8 42 24
00518-10 13 10 46 30
00518-12 16 12 54 32
00518-16 22 16 42 36
00518-20 28 20 45 46
00518 00518-24 35 24 47 50
00518-32 50 32 57 65
F Metric L - 24° Cone
with O-Ring DART NO T:gRE;D :;); Ti;%e DIJI\_{/:ENSLJ(:)N
AFMIRE2A PIRTEE R B S E DN DASH oD A C S1 S2
c A 20418D-14-04 M14x1.5 5 4 8 31 1.1 12 17
§ 20418D-16-05 M16x1.5 63 5 10 33 13 14 19
24°_f_ - : 20418D-18-06 M18x1.5 8 6 12 33 15 17 22
20418D-22-08 M22x15 11 8 15 36 2 19 27
20418D-26-10 M26x1.5 125 10 18 42 2.4 27 32
s2 20418D-30-12 M30x2 16 12 22 44 24 30 36
20418D-36-16 M36x2 22 16 28 42 3 36 41
20418D-45-16 M45x2 22 16 35 45 31 41 50
20418D 20418D-45-20 M45x2 29 20 35 45 31 41 50
20418D-52-24 M52x2 35, 24 42 49 36 50 60
F Metric S - 24° Cone oART NG THREAD HOSE  TUBE DIMENSION
with O-Ring B s ﬂgeﬂ DNExEI;ASH ES? A ,ca : s2
45" RibIRER24° PR RS 20518D-16-04 M14x1.5 5 4 8 32 2 14 19
c " 20518D-16-05 M16x1.5 6.3 5 8 33 2 14 19
q 20518D-18-04 M18x1.5 5 4 10 32 2 17 22
20518D-18-06 M18x1.5 8 6 10 33 2 17 22
24°w | [ | 20518D-20-06 M20x1.5 8 6 12 34 2 17 24
20518D-22-06 M22x1.5 8 6 14 33 2 19 27
o 20518D-24-08 M24x15 11 8 16 37 2 22 30
20518D-30-10 M30x2 125 10 20 45 3 27 36
20518D 20518D-30-12 M30x2 16 12 20 46 3 27 36
20518D-36-12 M36x2 16 12 25 47 5 36 41
20518D-36-16 M36x2 22 16 25 43 5 36 41
20518D-42-16 M42x2 22 16 30 46 6 41 50
20518D-42-20 M42x2 29 20 30 46 6 41 50
20518D-52-20 M52x2 29 20 38 48 7 50 60
20518D-52-24 M52x2 35 24 38 48 7 50 60
B54 www.laikehydraulics.com

+86 574 8847 2489



FEMALE BSP THREAD 60° CONE SEAL SERIES Su 124 60°HEE 5!

F BSP - 60° Cone
HE IELe0° MR

PART NO
B =

22618D-04-04
22618D-06-05
22618D-06-06
22618D-08-08
22618D-10-10
22618D-12-12
22618D-16-16

THREAD
12 W
E
G1/4"X19
G3/8"X19
G3/8"X19
G1/2"X14
G5/8"X14
G3/4"X14
G1"X11

22618D-20-20W G1.1/4"X11

HOSE
WE

DN DASH
5 4

6 5

8 6
11 8
13 10
16 12
22 16
28 20

DIMENSION

R =

A cC s1

26 6 14

291 6 17
30 6 17

35 8 19

355 10 22
385 11 27
37 12 32

415 11 41

S2
19
22
22
27
30
32
41
50

MALE NPT THREAD 60° CONE SEAL SERIES ZE4|EEMBLIZ 5

M NPT
KHEE MR

60°(

15618

PART NO
B =

15618-02-04
15618-04-04
15618-04-06
15618-06-05
15618-06-06
15618-08-08
15618-12-10
15618-12-12
15618-16-16
15618-20-20
15618-24-24
15618-32-32

THREAD
2 N
E
1/8x27
1/4x18
1/4x18
3/8x18
3/8x18
1/2x14
3/4x14
3/4x14
1x11.5
1-1/4x11.5
1-1/2x11.5
2x11.5

HOSE
RE
DN DASH
5 4
5 4
8 6
6 5
8 6
11 8
13 10
16 12
22 16
28 20
35 24
50 32

DIM.

R
A
25.5
30
31
32.9
32
40.5
42.5
43
46.5
51.5
52.5
55

=

S1
12
17
17
19
19
22
30
30
36
46
50
65

MALE JIC THREAD 74° CONE SEAL ZEFIICHMEBLI74° SMEE

M JIC - 74° Cone Seal
SEHlnciMESI74° SMET

PART NO
B S

16718-04-04
16718-06-05
16718-06-06
16718-08-06
16718-08-08
16718-10-10
16718-12-12
16718-16-16
16718-20-20
16718-24-24

B55

THREAD
12 W
E
7/16"X20
9/16"X18
9/16"X18
3/4"X16
3/4"X16
7/8"X14
1.1/16"X12
1.5/16"X12
1.5/8"X12
1.7/8"X12

HOSE
WE
DN DASH
5 4
6 5
8 6
8 6
11 8
13 10
16 12
22 16
28 20
35 24

DIM.

R
A
29
31
32
34.7
38
40.5
45.5
44
49.5
52.5

www.laikehydraulics.com
+86 574 8847 2489

il

S1
12
17
17
22
22
24
30
36
46
50




FEMALE JIC THREAD 74° CONE SEAL ZE#)ICPat8s74° R

B56

www.laikehydraulics.com
+86 574 8847 2489

F JIC - 74° Cone Seal PART NO THREAD HoiE DIMENSION
SEHICPIIELSI74° PO B o= 7« BE R ¥

E DN DASH A C S1 S2

26718D-04-04 7/16"X20 5 4 22 9 14 17

26718D-05-05 1/2"X20 6 5 25.4 10 14 17

26718D-06-06 9/16"X18 8 6 245 11 17 19

26718D-08-08 3/4"X16 11 8 31.5 11 22 24

26718D-10-10 7/8"X14 13 10 34 13 27 27

26718D-12-12 1.1/16"X12 16 12 37 15 32 32

26718D-16-16 1.5/16"X12 22 16 33.5 16 38 41

26718D-20-20W 1.5/8"X12 28 20 415 17 41 50

26718D-24-24W 1.7/8"X12 35 24 43 20 46 55

26718D-32-32W 2.1/2"X12 52 32 46 24 65 75

F JIC - 74° Cone Seal PART NO THREAD HOSE DIMENSION

EFINCcHEN74° PR o= g 9@ e R =

E DN DASH A C S1 S2

A 24218D-04-04 9/16x18 5 4 305 8 14 17

o “; . 24218D-04-05 9/16x18 6.3 5 32 8 14 17

| 222 % 2z 24218D-06-06 11/16x16 8 6 345 10 17 22

‘ i I 24218D-08-08 13/16x16 11 8 415 11 19 24

L 24218D-10-10 1x14 12.5 10 475 14 24 30

52 st 24218D-12-12  1-3/16x12 16 12 505 15 30 36

242 18D 24218D-16-16 1-7/16x12 22 16 49 15 36 41

24218D-20-20W 1-11/16x12 29 20 545 15 41 50

24218D-24-24W 2x12 35 24 57 15 50 60




FLANGE SERIES j£=Z%I

- HOSE DIMENSION
Code Eil Flange - 3000 PSI PART NO SIZE oot R
SAE %= 3000 PSI B 2 Ry =
DN DASH A C S1
87318D-08-08  1/2" 11 8 54 30 22
e 87318D-12-12  3/4" 16 12 55 38 27

87318D-16-16 1" 22 16 55 44 32
87318D-20-20 1-1/4" 29 20 58 51 41
87318D-24-24 1-1/2" 35 24 70 60 46

87318D 87318D-32-32 2" 46 32 72 71 60

Code 61 Flange - . HOSE DIMENSION
‘ ge - 3000 Psl PART NO SIZE s R
90 B 5 R
o e s DN DASH A € D H L s1
90° SAE == 3000 PSI 87398D-08-08  1/2" 11 8 53 30 24 47 7 27
87398D-12-10  3/4" 125 10 67 38 32 53 7 32
87398D-12-12  3/4" 16 12 80 38 32 6 7 32
87398D-16-12 1" 16 12 80 44 38 62 8 32
87398D-16-16 1" 22 16 87 44 38 68 8 41
87398D-20-16  1-1/4" 22 16 87 51 43 68 8 41
87398D-20-20 1-1/4" 29 20 101 51 43 79 8 50
87398D-24-20 1-1/2" 29 20 101 60 50 81 8 50
e 87398D-24-24  1-1/2" 35 24 108 60 50 94 8 55
87398D 87398D-32-24 2" 35 24 108 71 62 94 10 55
87398D-32-32 2" 46 32 129 71 62 114 10 70
Code 62 Flange - 6000 PSI -, crno SIZE HOSE DIMENSION
90° m =2 Ry P8 L
s DN DASH A C D H L s1
90° SAE &= 6000 PSI 87698D-08-08  1/2" 11 8 53 32 24 48 8 27
87698D-12-10  3/4" 125 10 67 41 32 57 9 32
87698D-12-12  3/4" 16 12 80 41 32 66 9 32
87698D-16-12 1" 16 12 80 48 38 69 10 32
87698D-16-16 1" 22 16 87 48 38 75 10 41

87698D-20-16 1-1/4" 22 16 87 54 44 79 10 41
87698D-20-20 1-1/4" 29 20 101 54 44 90 10 50
87698D-24-20 1-1/2" 29 20 101 64 51 95 13 50
87698D-24-24 1-1/2" 35 24 108 64 51 108 13 55

87698D 87698D-32-24 2" 35 24 108 79 67 116 13 55
87698D-32-32 2" 46 32 129 79 67 136 13 70

www.laikehydraulics.com
B57 +86 574 8847 2489




	Cover1
	Cover2
	with Logo
	Index
	INDEX
	INDEX1
	INDEX2
	INDEX3
	INDEX4
	INDEX5
	INDEX6

	A. Ferrule
	1.00110&01100
	2.00200 00210 00120
	3.03310 00400 00401
	4.00402 00140 00621
	5 00018 00TF0

	B. Hose Fitting
	1.10311&20211
	2.20241&20291
	3.10411&20411
	4.20441&20491
	5.20411C&20441C&20491C
	6.10511&20511
	7.20541&20591
	8.20511C&20541C&20591C
	9.10611&20611
	10.20641&20691
	11.10711&20711
	12.20741&20791&10811L
	13.20111&20141
	14.20141&20191
	15.50011
	16.50041
	17.50091
	18.NL&RL
	19.12211&12611
	20.12611A&22611
	21.22611D&22641
	22.22691&22691K
	23.22111&22141
	24.22191&13011
	25.22211&22241&22291
	26.14211&24211
	27.24241&24291
	28.24291&15611
	29.16011&16711
	30.16711L&26711
	31.26711D&26711D-SM
	32.26741&26791
	33.26791&26791K
	34.17811&27811&27841
	35.27891&21611
	36.87311&87341&87391
	37.87391&87611
	38.87641&87691
	39.FL&FS&18611
	40.28611&28641&28691
	41.19611&29611&29641
	42.29691&88111&88141&88191
	43.20011&60011&90011
	44.70011&700M
	45.71011&710M
	46.72011&720B
	47.10513&20513&20543&20593
	48.12613&22613&22643&22693
	49.13013&15613&21613
	50.24213&24243&24293
	51.26713&26743&26793
	52.29613&87613&87643&87693
	53.87913&87943&87993
	54.00518&20418&20518
	55.22618&15618&16718
	56.26718&24218
	57.87318&87398&87698





